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Monday, July 30, 2012

--- On commencing at 9:32 a.m.

MS. HARE:  Good morning.  Please be seated.  Are there any preliminary matters?

MR. MILLAR:  No, Madam Chair.

MS. HARE:  Okay.  From the estimates, time estimates, we received, it looks like we're going to have a very full day today, and for that reason, the argument on the confidentiality of the one response we're going to leave till the end of the day, and if we don't have time at the end of the day, we'll set up a schedule for submissions in writing.

MR. SMITH:  Thank you.

MS. HARE:  Mr. Aiken, I believe you're first.
UNION GAS LIMITED - PANEL 7, RESUMED

Harold Pankrac, Previously Sworn


Robin Stevenson, Previously Sworn


Greg Tetreault, Previously Sworn

Cross-Examination by Mr. Aiken:

MR. AIKEN:  Thank you, Madam Chair.  Good morning, panel.  My name is Randy Aiken for the London Property Management Association.  I will be referring to a compendium of materials, so perhaps we should have that marked first thing this morning.

MR. MILLAR:  K12.1.  I'll bring it up for the panel.
EXHIBIT NO. K12.1:  CROSS-EXAMINATION COMPENDIUM OF LPMA.

MR. AIKEN:  I have a few questions with respect to cost allocation to start off with, and I should note that all of the references that I will be referring to today are based on the July 13th updated evidence unless I indicate otherwise.

Now, am I correct that Union has made changes to basically all of the cost allocation figures in Exhibit G based on the July 13th update, and that these changes reflect the reduction in the revenue requirement as a result of the settlement agreement?

MR. TETREAULT:  That's correct.

MR. AIKEN:  Now, you've provided the allocation of the reduction in the revenue requirement of just under $18 million in a new schedule, schedule 4 of Exhibit G3, tab 1.  I've included that at pages 1 and 2 of the compendium.

And looking at this schedule, most of the reduction gets allocated to rates M1, M12, and Rate 01.  Are any of the reductions shown based on changes to the allocation methodology from the original filing?

MR. TETREAULT:  No, they are not, Mr. Aiken.

MR. AIKEN:  Does the update include any changes at all in the methodologies proposed from the original filing?

MR. TETREAULT:  No, it doesn't.

MR. AIKEN:  If you turn to Exhibit G1, tab 1, appendix B - this is pages 3 and 4 of the compendium - am I correct that line 7 -- sorry, line 8 is the sum of all the changes in the proposed cost allocation methodologies that you're proposing in this proceeding?  Is that correct?

MR. TETREAULT:  That's correct.

MR. AIKEN:  And would you agree that the net impact is relatively minor in all rate classes, with the possible exception of the net allocation of costs away from Rate 10 to rates 20, 25, and 100, all of which are in the north?

MR. TETREAULT:  Yes, that's fair.

MR. AIKEN:  And I believe you had a discussion on Friday with Mr. Wolnik about what was driving these changes, so I'll not go over that ground.  But for the rates in the south, all your proposed changes are quite minor in aggregate; is that true?

MR. TETREAULT:  Correct.

MR. AIKEN:  Now, at Exhibit H1, tab 1, page 3 of the updated evidence, which is at page 5 of my compendium, there's an updated deficiency of 56.58 -- sorry, an updated deficiency of 56.58 million for the Phase I revenue deficiency, and 54.524 million after the Phase II adjustments.

Now, in the March 27th update, these figures were 71.378 million and 71.318 million, respectively.  So would you take it, subject to check, that the reduction between the March evidence and the July evidence is 14.797 million for Phase I and 16.794 for Phase II?

MR. TETREAULT:  Yes, I would.

MR. AIKEN:  Now, can you provide a reconciliation of those two figures, the 14.797 and the 16.794 with the 17.955 million reduction in the revenue requirement shown back on page 1 of the compendium?

MR. TETREAULT:  Mr. Aiken, with the July update, we did include a new schedule in Exhibit H3, and -- that performs that reconciliation.  And that schedule is H3, tab 12, schedule 1.  That was a new tab with the July filing.

MR. AIKEN:  Okay, thank you.  I'm looking at it on the screen.  And where do I find the 17.955 million?

MR. TETREAULT:  You would see that on line 19.

MR. AIKEN:  Okay.

MR. TETREAULT:  And that number will tie back to the settlement schedules we were just referring to.

MR. AIKEN:  Yeah, okay.  Thank you.

Moving on to some generic questions, at a high level, does Union Gas allocate demand-related or capacity-related costs between customers in different rate classes based on peak day demands by rate class?

MR. TETREAULT:  Yes, we do.

MR. AIKEN:  What is the difference, if any, between peak day and design day?

MR. TETREAULT:  I consider them to be the same, Mr. Aiken, just different terminology, I think, depending on whether you're speaking to an operational group or, you know, perhaps a cost allocation group.  Same terms.

MR. AIKEN:  And the use of the peak day, is that why residential customers, for example, generally get allocated more demand-related costs than do large contract customers relative to the annual volume comparison between those two classes?

In other words, they have a lower load factor than most large industrial customers, so if their volumes were the same, their peak would be higher and, therefore, they get higher demand costs allocated to them?

MR. TETREAULT:  Yes, that's correct.

MR. AIKEN:  And then at the same high level, what costs are included as customer-related costs in the cost allocation study?

MR. TETREAULT:  Those would generally be costs associated with attaching customers to the system and maintaining their attachment to the system over time.

MR. AIKEN:  Does it include billing and meter reading costs?

MR. TETREAULT:  Yes, it does.

MR. AIKEN:  In terms of assets, do they -- to do the costs include meters, regulators and service lines?

MR. TETREAULT:  Yes.

MR. AIKEN:  Okay, thank you.  Now, do these types of costs on a per-customer basis generally increase as the customer size goes up to reflect higher cost meters, regulators, et cetera, and more complexity in the billing?

MR. TETREAULT:  Yes, that's fair.

MS. O'CONNOR:  Okay.  Now I'm going to move on to rate design.

Am I correct that Union is not proposing any rate design changes from those proposed in the original evidence and your update?

MR. TETREAULT:  That's correct.

MR. AIKEN:  So I would be correct that the updated evidence in Exhibit H simply reflects a reduction in the revenue deficiency that came out of the settlement agreement?

MR. TETREAULT:  That's correct.

MR. AIKEN:  One quick housekeeping matter, I think.

If you look at page 6 of the compendium, this is Exhibit H1, tab 1, appendix B.  There's a note at the bottom, note 4, and this note refers to schedule 3 of appendix A to the settlement agreement.

Am I correct that the reference to appendix A should actually be appendix B?

MR. TETREAULT:  Yes.

MR. AIKEN:  And I believe appendix A is the issues list.

MR. TETREAULT:  Yes, that's correct, Mr. Aiken.

MR. AIKEN:  Okay.  Now, I understand that you gave an undertaking to Ms. Girvan to reconcile the figures for 2013 in Exhibit H3, tab 10, schedule 1 and Exhibit J.C-4-5-2, attachment 1.  I've included these on pages 7 and 9 of the compendium.  Is that correct?

MR. TETREAULT:  Yes.

MR. AIKEN:  It was to reconcile the 2013 revenue numbers between those two schedules?

MR. TETREAULT:  Yes.  The undertaking was to -- was to do exactly that, reconcile various forecast numbers, yeah.

MR. AIKEN:  Okay.  Thank you.

Now, while we're at H3, tab 10, schedule 1, which is on page 7 of the compendium, I see a large negative margin - so that's column C, at line 5 - for the M12 long-term transportation of just under 5 million.  And, again, at line 9, the total M12 rate class is a negative margin of 2.605 million.

Can you explain why the revenues do not cover the costs in this rate class?

MR. TETREAULT:  That ties back to the current approved rate design for M12.  So in designing M12 rates, we include westerly C1 demands, and the result of that is the numbers you referenced, what looks like allocated costs greater than revenue for M12.

The offset to that, however, can be -- can be seen in line 12 of the same schedule where you, at the same time, see a positive total margin.

So a portion of that positive total margin of 5.389 would be explained by what our -- our discussion.

MR. AIKEN:  So are you saying that the C1 long-term essentially offsets the shortfall in the M12 long-term?

MR. TETREAULT:  That's correct, to recover in total the revenue requirement associated with Dawn to Parkway rates for ex-franchise.

MR. AIKEN:  Okay, thank you.  I'm moving on now to the issue of revenue-to-cost ratios.  If you could turn to pages 10 and 11 in the compendium, this is Exhibit H3, tab 1, schedule 1.

I notice that Union is proposing to reduce the revenue-to-cost ratio for a number of rate classes as compared to what was approved in EB-2005-0520.

And, in particular, if you compare columns H and J, I see at line 4, for example, a reduction for Rate 25 from 0.467 to 0.446.

Yeah, line 4 for Rate 25.  There's a reduction for rate M2 at line 9 from 0.972 to 0.94, and a reduction for rate M5A at line 11 from 0.824 to 0.746.

So based on those examples, can you explain why you're moving these ratios further from unity?

MR. PANKRAC:  Yes.  What we're trying is we're trying to, in the case of Rate 25 where we have lowered the revenue-to-cost, is we're trying to manage the relationship between the firm and interruptible service.  And so what we do is we look at the average unit price change in the firm service and in the interruptible service.

And so what the use of the 0.446 does is it manages that relationship.

And, similarly, in rate M2 and in rate M5A there are slight changes, a few percentage points' change, in the ratios, and it's so that we maintain the rate continuum across all of the firm rate classes and the interruptible rate class, and we manage the level of increase to any rate class.

MR. AIKEN:  Okay.  You just mentioned the level of the rate increases.  So if you look at column (i) for those three rate classes that I mentioned, the rate changes range from 12.7 percent to 36.9 percent.

So I take it from your last answer that's -- part of the reason for the reduction in these revenue-to-cost ratios that were already below unity is because of the significant rate change increases shown on column (i)?

MR. PANKRAC:  Yes.  The other reason for the reduction in the revenue-to-cost ratios is that the level of transactional credits that we have went up from about 20.9 million to about 23.9 million.  So we had further credits with this update.

And so with the further credits, what that means is that, really, you have the capability to reduce the revenue-to-cost ratios slightly.

MR. AIKEN:  Now, at the same time, you're proposing increases in the revenue-to-cost ratios for rates 20 - that's at line 3 - Rate 100, which is at line 5, and Rate 4, which is at line 10, despite significant increases in rates shown in column (i) of that range between 17.8 percent to 33.3 percent for these customers.

Do you consider these increases to be acceptable for these rate classes considering their impact on rates?

MR. PANKRAC:  Let me talk about first the north, and then the south.  And you can see, looking in the north, at Rate 20, Rate 25 and Rate 100, that there is roughly a common increase that's in the neighbourhood of 30 percent.

And in Rate 100, which is our other benchmark, our other bookmark in the north, you can see that what we have done there is we have simply maintained the revenue-to-cost ratio at 1.0.  And so with both ends of the North continuum, what we've done is we've tried to have the revenue-to-cost ratio close to 1.0.

And so in the north for Rate 20, 25 and Rate 100, you can see the approximate increases are about 30 percent for those rate classes.

In the south, what we have done is we have again had to manage the continuum.  So the way that -- because most customers have the option of shifting between classes, what we've done is we've had to manage the average unit price increases so that we would be relatively neutral if they shift from one class to another.

So that is, again, the rate continuum criteria that's been applied.

MR. AIKEN:  You mentioned -- with respect to Rate 100, you said you were maintaining the revenue-to-cost ratio.  Aren't you actually increasing the revenue-to-cost ratio for Rate 100?

MR. PANKRAC:  I'm sorry, I meant to say -- no, the revenue-to-cost ratio was 1.0 and it continues to be.

MR. AIKEN:  Okay, sorry.  I'm looking at line 5, column (j), and I see a figure of 0.895 for Rate 100.

MR. PANKRAC:  I'm sorry.  Your comparison is with 2007.  Yes, in 2007, what we had is we had a situation where we had greater transactional credits, because we also had the storage credits.  And so the fact that the quantum of the credits was more in the order of, call it, 30 to 35 million, roughly, that's where the difference is coming, is that in 2007 we had far greater credits to apply.  And so on a rate class basis, it meant that the deviation of revenue from cost was greater because we had greater credits.

MR. AIKEN:  Okay.  Thank you.

Now, you are proposing small increases in the revenue-to-cost ratios for rates M7 and T3, where the proposed ratios are still below unity.  And the rate increases shown are only 3.2 percent and 2.0 percent, respectively.

Please explain why Union is not proposing larger increases for these rate class in order to bring their revenue-to-cost ratios closer to 1.0?

MR. PANKRAC:  Our goal in the mid-market, as we say in the evidence, is, in the contract market, our target is roughly 0.8, and so you can see that M7, being 0.77, roughly achieves that target.

M7 sits in the middle of the mid-market and the large-volume market, and so the way we determine that increase is we look at what the revenue-to-cost ratio is for M4, which is also about 80 percent, and we're cognizant that customers in M7 also have the option of switching to T1 or T2.

And so because it sits in the middle, the rate increase is constrained by the continuum, and so that whether a customer selects a bundled service or a semi-bundled service, customers selecting the same service would pay the same price.

MR. AIKEN:  If you turn over to the second page of the revenue-to-cost ratios, I want to focus on line 10, which is for rate M12.  And what I see you doing here is that you're proposing to maintain the revenue-to-cost ratio of 0.984 from that previously approved by the Board.  And this results in a 1 percent increase in rates, if I read this correct; is that right?

MR. PANKRAC:  That is correct.

MR. AIKEN:  If you increase the revenue-to-cost ratio for the M12 rate class to unity, would you take it subject to check that the rate increase would be about 2.6 percent instead of 1 percent?

MR. PANKRAC:  Subject to check.

Mr. Aiken, I just want to add to that that, as Mr. Tetreault explained earlier, the reason the revenue-to-cost ratio isn't 1.0 for the rate M12 class is because of the crediting of some of the C1 transportation credits, the westerly credits, which really are applied to the M12 class, and that is why the revenue-to-cost ratio, as Mr. Tetreault said, is not 1.0 for the M12 class.

MR. AIKEN:  And are the customers served urban the M12 class the same as the customers under C1, or is there a difference?

MR. TETREAULT:  They could be different customers.

MR. AIKEN:  Okay.  I'm going turn now to the issue of the supplemental service charge that you propose to increase from $15 a month to $21 per month for the M1 customers, and from $15 to $70 for M2 customers.

First of all, have I got those numbers right?

MR. PANKRAC:  That is correct.

MR. AIKEN:  Now, I had asked a series of questions in Exhibit J.H-10-2-1, which I have included in the compendium at pages 12 through 17.

In part f) I ask for the additional revenue that would be generated through this increase in this supplemental service charge.  And maybe I should stop and have you explain what the supplemental service charge is for.

MR. PANKRAC:  Yes.  The supplemental service charge reflects the fact that for commercial and industrial customers within those rate classes where the property is contiguous, we allow the aggregation of volumes.

The purpose of the supplemental service charge is that the advantage that the customers derive is really that they're able to aggregate the volumes.  It is not really a difference in the meter charge; hence, our proposal that what the charge for supplemental meters should be is the same as the initial meter.

MR. AIKEN:  And the advantage to customers of being able to aggregate their volumes is that they have the opportunity, then, for more of those volumes to be in the lower-priced higher blocks?

MR. PANKRAC:  That is correct.

MR. AIKEN:  Okay.  So that the answer to part h) indicates there would be an increase of about $116,000 in revenue if the Board approves the increase, and Union states that it would update the 2013 proposed revenues to reflect the amounts for rates M1 and M2.

So my question is:  Is this still your proposal?

MR. PANKRAC:  That is still our proposal.

MR. AIKEN:  And in part d) of the question, I asked about your proposal to increase the additional service charge in 2013 from $15 to $70, and then to reduce it to $35 in 2004.  And I understand why you're doing that.

The response then goes on to indicate that the charge is meant to ensure that any M2 customers who can combine meter readings do not receive an unintended benefit in comparison to rate M2 customers that cannot combine meter readings, which is, I think, what you just explained; is that right?

MR. PANKRAC:  That's right.  It's the principle of matching.

MR. AIKEN:  Now, you're proposing to change the annual breakpoint from 50,000 m3 to 5,000 m3 for the M1 and M2 customers, and the 01 and 10 customers in the north.

Am I correct that the current blocking structure is different in the south than it is in the north?

MR. PANKRAC:  Yes.

MR. AIKEN:  And you're proposing to harmonize those structures?

MR. PANKRAC:  That's right.

MR. AIKEN:  So in part q) of the response, which is on page 17 of the compendium, you indicate that Union offers a similar supplemental service under rates 1 and 10, but that these accounts do not have an additional service charge for each additional meter that's combined.

And then in the response to JT2.1(h) -- sorry, JT2.18, which I've included at pages 18 to 22 of the compendium, you further elaborate that the practice of combining meter readings from several meters for eligible Rate 1 and 10 customers without charging additional service charge has not been harmonized between Union north and Union south.

So my question is:  With the proposed harmonization of the block structure between north and south, why is Union not proposing to harmonize this feature?

MR. TETREAULT:  We weren't prepared to do that, Mr. Aiken, largely as a result of that being a longstanding policy that dates back to the centre gas days in the north, and we felt it prudent not to introduce that type of supplemental service charge in the -- for that reason, just to maintain the longstanding policy, particularly, I'll say, in light of some of the rate increases we are seeing in the north.

MR. AIKEN:  Do you have an estimate of the additional revenue that would be generated if Rate 1 -- sorry, in Rate 1 if there were a charge of $21 per month for each additional meter, and in Rate 10 if there were a charge of $70 per month for each additional meter; in other words, the same as what your proposal is in the south?

MR. PANKRAC:  Yes.  In the north, the activity is very minimal, whereas in the south we have approximately 1,040 customers that participate in the supplemental service.  In the north we have about 95.  Eighty-one of those customers are in Rate 1, so the math would be 81 customers times $21 times 12.

And I'm just going to take a moment to do that, if you'll indulge me.  So the dollar value of that is $20,412.  And for the 14 additional Rate 10 customers, the $70 charge would give you additional revenue of $11,670, subject to check.

So that would be the additional revenue if the charge was set the same as the monthly charge.

MR. AIKEN:  Instead of adding the charge in the north to harmonize with the south, has Union considered dropping the charge in the south to harmonize with the north and extending your policy from the centre days?

MR. TETREAULT:  No, we did not.  We did not consider that, Mr. Aiken.  We were comfortable with the difference in policy between north and south in this area.

MR. AIKEN:  Would you take it subject to check that if you did drop the charge in the south, that it would result in a reduction in revenues of approximately $300,000?

MR. TETREAULT:  I can take that subject to check.

MR. AIKEN:  I'm moving on now to the 2014 rate design proposals.  And I note that in response to JT2.18, at pages 21 -- sorry, pages 20 and 21 of the compendium, Union arrived at the $35 customer charge for rates 10 and M2 by taking the mid-point of the monthly customer charges -- this is actually shown on the top of page 21 of the compendium -- by taking the mid-point of the monthly customer charges required to recover all customer-related costs.

So based on table 1 on page 21 of the compendium, does this mean that Union will be recovering more than 100 percent of the customer-related costs for the M2 rate class?

MR. PANKRAC:  That is correct.

MR. AIKEN:  Has Union considered having a different monthly customer charge for Rate 10 of around $40 and a charge of $30 for rate M2?

MR. TETREAULT:  No, we have not.  The current monthly customer charges in both small-volume and large-volume general service classes are harmonized, and we wanted to maintain that harmonization.

MR. AIKEN:  But your volumetric rates, for example, are not harmonized between the north and the south in those rate classes; is that right?

MR. TETREAULT:  That's correct.  There are different volumetric rates to reflect the different operating costs in each area.

MR. AIKEN:  Now, why do you think you need to harmonize the monthly customer charge, because Rate 10 and rate M2 are still different rate class; correct?

MR. TETREAULT:  They are.  They are different rate classes, Mr. Aiken.  That's correct.

MR. AIKEN:  And they have different cost characteristics, as table 1 shows?

MR. TETREAULT:  Yes, they do.

MR. AIKEN:  Now, at page 23 of the compendium, I have included attachment 1 from Exhibit J.H-1-14-2.  This shows the rate impact on M1 and M2 customers of the changes proposed by Union in 2014.  For example, a customer consuming 5,001 cubic metres would see an increase of almost 33 percent in their rates in 2014.  Have I got that right?

MR. TETREAULT:  Excuse me.  That's correct.

MR. AIKEN:  I note that this -- that this is labelled, "Bill Impact."  Does bill impact mean a distribution cost increase or the total bill including the commodity costs?

MR. TETREAULT:  This is the delivery bill impact only.

MR. AIKEN:  Okay.  Now, this response was based on your original evidence.  Have you updated this response to reflect the settlement agreement?

MR. PANKRAC:  Yes, we have.

MR. AIKEN:  Do you know where that was filed?

MR. TETREAULT:  It's been prepared, Mr. Aiken.  I don't believe it's been filed as an exhibit yet.

MR. AIKEN:  Okay.  Would you undertake to file that as an exhibit, then?

MR. TETREAULT:  Certainly.

MR. PANKRAC:  Yes.

MR. MILLAR:  J12.1.  What exhibit is this Mr. Aiken?  I can't see.  So it would be an update to J.H-1-14-2, attachment 1.
UNDERTAKING NO. J12.1:  TO FILE UPDATE TO J.H-1-14-2, ATTACHMENT 1.

MR. TETREAULT:  I can tell you, Mr. Aiken, that for a customer at 5,001, there has only been a very slight change in that updated exhibit.

MR. AIKEN:  And is it around 34 percent, something in that neighbourhood?

MR. PANKRAC:  Yes.

MR. AIKEN:  Okay.

MR. AIKEN:  And I take it that all of the numbers along the right-hand side column have gone up a little bit, because the 2013 starting point is at a lower cost because of the settlement agreement?

MR. PANKRAC:  That's correct.

MR. AIKEN:  Okay.  Would you agree that the increases shown here would likely be higher, given that there may be a further increase in 2014 rates under either an IRM or cost of service application?

MR. TETREAULT:  No, I don't think I can agree with you, Mr. Aiken.  I can't speak to what the 2014 application might look like and what the cost and rate implications of that application might be.

MR. AIKEN:  But you would agree that there is potential for an increase over and above this should your revenue requirement, for example, for 2014, go up under cost-of-service or the price cap is positive under an IRM mechanism?

MR. TETREAULT:  That's a fair assumption.

MR. AIKEN:  Now, I asked to see the rate impacts of your 2014 proposal assuming the monthly charge for the M2 rate class was set to $30 instead of $35.  This response was provided in J2 -- sorry, JT2.18, attachment 2, on pages 3 of 4.  And you can find that on page 41 of the SEC compendium, which is Exhibit 10.5 that was filed on Thursday, I believe.

Do you have that?

MR. PANKRAC:  Page 41 of the SEC compendium?

MR. AIKEN:  Yes.

MR. PANKRAC:  I have that.

MR. AIKEN:  Would you agree that this one change has a significant impact in mitigating the impact on the small customers that would be transferred from rate M1 to M2, given that the rate increase of 33 percent that we noted earlier drops to 22 percent under this option?

MR. TETREAULT:  Yes, I would agree with what you're saying, Mr. Aiken.  I think what's important to understand here is the balance that we're trying to strike, and that balance is really managing rate continuity, rate continuum, with the level of deficiency we're seeing, and also trying to balance the level of fixed cost recovery in the monthly customer charge.

So if I could actually take you to a different IR response, I think I can provide a little more context around my last point on fixed cost recovery.  And I believe the IR is -- it should be J.H-1-15-2.

And, specifically, I'm looking attachment 2 and, subsequent to that, attachment 4.  And what attachment 2 shows is the fixed cost recovery in the general service rate classes in 2013.  And the key lines to focus on -- and unfortunately there's not a total here.  The key lines are lines 1, which represent the customer-related costs in those classes, and line 6, which represent the demand-related costs in those classes; in other words, the fixed costs that have been allocated to those rate classes.

And the total fixed cost associated with these four classes in '13 -- 2013, is approximately $612 million.  And we are recovering approximately $257 million of that amount in volumetric rates.

So I mentioned earlier that we're looking to achieve a balance between rate impacts and rate continuity with fixed cost recovery.  And, in our view, recovering somewhere around 40 percent of fixed costs in volumetric rates - in other words, recovering the additional 60 percent in the monthly customer charge - is appropriate.

And if we turn over to attachment 4, which is the same analysis for 2014, and, again, I recognize that there's no totals in this attachment, but the total fixed costs remain at $612 million, and we continue to recover approximately $250 million of that fixed cost in volumetric rates.

The percentage has dropped slightly, but it's moved from 42 percent in 2013 to approximately 41 percent in 2014.

So we feel, in both years, that's an appropriate balance between the other -- the other considerations and a reasonable recovery of fixed costs in volumetric rates.

MR. AIKEN:  And while we're on attachment 4, then, this is where we can see that your M2 monthly customer charge would recover 116 percent of your customer-related costs --


MR. PANKRAC:  That's correct.

MR. AIKEN:  -- on line 4; right?

MR. PANKRAC:  Yes.

MR. AIKEN:  So if that were reduced to 100 percent, which would be at roughly the $30, how would that impact your fixed cost percentage that you noted earlier?

MR. TETREAULT:  It would increase slightly, by approximately $3.5 million, the volumetric recovery of fixed costs.

MR. AIKEN:  All right.  Has Union considered any rate mitigation measures for the customers that you propose to move from Rate 1 to M2, given the 34 percent increase for the small ones, anyways?

MR. TETREAULT:  No, we have not, Mr. Aiken.  As you know, our rate design proposals in total are revenue neutral, and the number of customers that are impacted adversely in some way by our rate design proposals in general service is a very small percentage of the overall customer base.

I believe it's in the neighbourhood of 58 to 60,000 customers out of a general service customer base of approximately 1.4 million, so somewhere in the order of, I'll say, 4 percent of the total customer base.

MR. AIKEN:  Okay.  Now I've got some general questions on the proposals for 2014.  So if we go back to page 23 of the LPMA compendium, this is attachment 1 to J.H-1-14-2.

This schedule shows that, under your proposal, a customer using 5,000 cubic metres under rate M1 would pay $451.30, while a customer consuming one cubic metre more, and therefore in rate 2, would be paying $597.10.

Now, this is a jump of 32 percent or more than $145.  Would you agree that's a very expensive cubic metre of gas on your continuum of rates?

MR. PANKRAC:  It reflects the difference in the services between the small volume and the large volume.  Most of that difference in the rate is due to the increase in the customer charge for the 5,001 cubic metre customer, and which, of course, at that volume is not offset by the volumetric rate reduction.

However, the other thing to note in that is that because it is a change in the customer charge, in fact most of that increase is in the summer months because of the nature of how the monthly charge operates, and, in fact, most of that increase is applied to bills that are the smallest customer bills within that 12-month period.

MR. AIKEN:  Now, you mentioned the continuum of rates.  Shouldn't good rate design provide for a smooth transition from one rate class to another?  Isn't that what you mean by a good continuum between rates?

MR. TETREAULT:  Yes.  Yes, that's fair, balanced with the other fair rate design considerations, such as an appropriate recovery of fixed cost in a fixed charge.

Important to note, as well, Mr. Aiken, that in 2014 we are speaking about customers that are right at the boundary points between rate classes, and, as you know, class rate-making is all about the averages as opposed to the customers that may be outliers or on the extremities.

MR. AIKEN:  So I guess my question is:  This $145 increase, do you consider that impact to be a smooth transition between rates M1 and M2?

MR. TETREAULT:  Overall, we do consider the continuity between classes to be appropriate.  And, again, we're balancing continuum with a number of other considerations, largely, the fixed cost recovery in a monthly customer charge.

So, on balance, we are comfortable with the change we're seeing in '14, under the understanding, of course, that in aggregate, the proposals are revenue neutral and only impact a small portion of total M1/M2 customers.

MR. AIKEN:  If we now go to page 24 of the compendium, this is attachment 1 to J.H-5-2-1.  Am I correct that this shows that a large M2 customer that would qualify for an M4 contract could end up paying significantly more or less
than under the M2 rate in 2014?

MR. PANKRAC:  Yes.  In this analysis, you can see that the crossover for a comparable customer between M2 and M4 occurs somewhere between the 40 and 50 percent load factor.  I think I calculated that it's around 48 or 49 percent, where in fact there would be price equivalence.

MR. AIKEN:  Now, we see that the rate impacts range from a drop of 16.6 percent to an increase of 9.5 percent in those four examples provided there.

MR. PANKRAC:  Yes.

MR. AIKEN:  Does Union have the same magnitude of changes in rates between, for example, M4 and M7, or T1 and T2, as the results based on Union's proposals for M1 and M2, and now M2 and M4?

MR. PANKRAC:  Our goal, as we mentioned earlier, is to maintain our rate continuum between firm services, to the extent possible.  There are other balancing factors, as well.  But, in general, we aim for a smooth rate continuum between M4 and M7, M4 and T1.  And so all of those things are considerations in our review of the appropriate level of the rates.

MR. AIKEN:  I guess what I'm asking is --


MR. PANKRAC:  Mm-hmm?

MR. AIKEN:  -- have you done a similar comparison as to what we've just gone through for large M1 to small M2, large M2 to M4, for M4 -- large M4 to small M7, T1 to T2, et cetera?

MR. PANKRAC:  Yes.  As part of our review of the appropriateness of that, we look at the average rate of classes and we profile some customers to determine if the average price is comparable.

MR. AIKEN:  And how do those comparisons stack up with the 9.5 to a reduction of 16.6 percent or the 30-some-percent increase that we noted for M1 and M2?  In other words, is the difference between the T1 and T2, for example, 10 percent or 30 percent in your comparison?

MR. PANKRAC:  I would have to confirm that.  Our comparison really just looks at the average unit price, which of course would be derived from the total bills.

But they are comparable.  And as you'll notice on this schedule, the schedule points out that there is a load factor sensitivity, is that in fact it is the load factor, it is the efficiency that is producing those economies or those reductions at the 57.1 percent load factor and at the 49.5 percent load factor in this illustration.

And so what we do is we do say that the proper behaviour, that as load factor increases, as efficiency increases, you would expect the average unit price decrease.

MR. AIKEN:  How does Union communicate to customers that they qualify for a contract rate?  In other words, how do they advise an M2 customer that they may qualify to be an M4 customer?

MR. PANKRAC:  That would be part of -- subject to approval, that would be part of our broad-based communication by a number of different tools, and also through a number of meetings with customers.

MR. AIKEN:  Does Union advise customers that the M4 contract rate could end up costing them more than the non-contract M2 class?

MR. PANKRAC:  Because it is really a function of how the customer selects their CD and their load factor, those things are very customer-specific.  And so certainly to the extent that customers ask us, we do provide a comparison, and -- but really, at the end of the day, it is the customer's comfort level around whether he wants to pay in one rate structure or another.

MR. TETREAULT:  Contract rate customers, Mr. Aiken, would typically have a sales rep or an account manager that they work with that's familiar with their business.  So the account manager would typically be having those type of discussions with the contract rate customer.

MR. AIKEN:  But if they're a large M2 customer, they're not a contract customer, at least not yet.  So how do these large M2 customers become aware that they might qualify for a contract rate, and then, once they're aware of that, does Union advise them that in some cases it may actually cost them more to be an M4 customer?

In other words, does somebody -- an apartment building, for example, with a low load factor who has an annual volume that exceeds 350,000 cubic metres a year, but may have a poor load factor that could end up paying more under M4 than under M2?

MR. PANKRAC:  Yes.  There are two ways that we manage that.  First of all, we have identified in our evidence that the number of customers, assuming our proposals are approved, that might be eligible for this is about 595 customers.

Those customers are managed by a separate billing system, and, in addition to that, what we have is we do have the communication tools to communicate that.

Our other way that we manage that is just because we have continued to maintain the 40 percent load factor, and so to the extent a customer does not have a 40 percent load factor, they would not be eligible for the M4 service in the first place.

And so between those two constraints, that really cuts down on the number of customers that would be in the situation that you identify, Mr. Aiken.

MR. AIKEN:  Could you turn to page 2 of the attachment to JT2.27?  This can be found at page 16 of the SEC compendium, Exhibit K10.5.

Now, you touched earlier on the number of customers this will impact.  So am I correct that your proposal to change the volume breakpoint for the M1 and M2 customers, which is the group I'm concentrating on, will impact about 31,000 of the 78,000 commercial customers in Union south?

MR. PANKRAC:  I'm just turning up another table, Mr. Aiken, just to confirm that.

So for Union south, at table 5 of our written evidence, at page 17, we identify that the number of customers, if we change the volume breakpoint, goes from -- in Union south, goes from about 6,000 to about 57,000.  So I take that to be about 51,000, more or less.

MR. AIKEN:  Okay.  Well, if you look at the page that's up on the screen.

MR. PANKRAC:  Yes.

MR. AIKEN:  If you look at line 11.

MR. PANKRAC:  Line 11?  I have it.

MR. AIKEN:  The first column shows 73,418 commercial M1 customers, and another -- at line 15, another 5,000 commercial M2.  So that's a total of about 78,000 commercial customers in the south.

MR. PANKRAC:  Mm-hm.

MR. AIKEN:  Then the second column shows, under your proposal, the 73,000 drops to 42,000.  So that's the 31,000 that are being shifted.

MR. PANKRAC:  Yes, in the commercial category.

MR. AIKEN:  Yes.

MR. PANKRAC:  That's correct.

MR. AIKEN:  And then in the industrial category, your proposal will impact about 2,500 of the 5,000 industrial customers in the south; is that correct?

MR. PANKRAC:  Yes.

MR. AIKEN:  And, similarly, it will impact about 17,000 of the 915,000 residential customers?

MR. PANKRAC:  That's right.

MR. AIKEN:  Now, if you go back to the bill impacts shown on page 23 of the -- sorry, page 25 -- no, I was right the first time.  Page 23 of the LPMA compendium.

MR. PANKRAC:  Yes.

MR. AIKEN:  Would you agree that it is likely that the residential and small commercial customers will face the biggest increases shown here?  In other words, they're going to be in that 5,000, 6,000, 7,000, 10,000 annual volume range?

MR. TETREAULT:  Yes, that's fair, Mr. Aiken.

MR. AIKEN:  Do you have any breakdown of the number of customers that would fit into each of these categories shown in the lines between 5,001 and 50,000?

In other words, do we know how many of the roughly 50,000 customers that this affects are going to be impacted to the tune of more than 10 percent?

MR. PANKRAC:  Yes.  I'm just looking it up.  In the response to a CME interrogatory that appears at J.H-1-14-2, we do identify how many customers are in that interval, and also roughly what the approximate increases are.  So that's J.H-1-14-2.

And at page 2 we identify those customers for Union north, and at page 3 we describe the changes for customers in Union south.

MR. AIKEN: Thank you.  If you could turn now to page 25 of the LPMA compendium, I have some questions related to the weights used in the response to Exhibit J2 -- sorry, JT2.27.  And the table on page 25 replicates Union's proposal, as I understand it, provided in Exhibit JT2.27; is that correct?

MR. PANKRAC:  That's correct.

MR. AIKEN:  So, in particular, the relative rates of 1, 1.5 and 2 are used to calculate the weighted number of customers based on the 5,000 m3 breakpoint.  This relative weighting then results in the percentages shown in column (d), and, when applied to the total customer-related costs, you get the dollar split shown in column (e).  Is that all correct on that table I have provided?

MR. PANKRAC:  That's correct.

MR. AIKEN:  So can you explain to me how these weights were determined?

MR. PANKRAC:  The weights were determined based on some earlier cost analysis that allowed us to determine the 1, 1.5 and 2.

MR. AIKEN:  On Friday you discussed these weights and this whole methodology with Mr. Buonaguro.  Could you turn to page 131 of Friday's transcript?  I guess that would be volume 11.

MR. PANKRAC:  I have it.

MR. AIKEN:  Now, Mr. Buonaguro asked if you had to make -- asked if you had to make certain assumptions in order to fit the new customers moving from one class to another into the overall cost allocation.  And at line 9, you answered yes, that you had to reallocate the general service costs by operating area.

And I'll stop there.  By "operating area", you mean north and south?

MR. PANKRAC:  That's correct.

MR. AIKEN:  And then your answer continued:

"And then come up with reasonable factors which closely proxy the cost study to make that redetermination of costs for each of those classes."


So, first of all, I'm assuming that the relative weights are the same in the south and the north that you've used?

MR. PANKRAC:  That's right.

MR. AIKEN:  And am I correct that this -- your statement on Friday is equally true for the customer-related costs and for the other delivery-related costs; in other words, that you're using volumes for one and this weight, but it's all part of what you had to do to come up with the numbers to be moved?

MR. PANKRAC:  That's correct.

MR. AIKEN:  Do you have any empirical evidence to support the relative difference in the weights?  In particular, why is the industrial weight twice the residential weight, and why is the commercial weight the mid-point of the industrial and residential weights?

MR. PANKRAC:  The empirical evidence we have is similar to the evidence we used when we did the 2007 rate split, which used those same weightings.

MR. AIKEN:  And has evidence been filed in this proceeding, the evidence about these relative weights?

MR. PANKRAC:  No.

MR. AIKEN:  Would you undertake to file that information?

MR. SMITH:  Sorry, just one moment.

[Witness panel confer]

MR. SMITH:  Why don't we do this?  We'll take a look at see what we have and -- when we filed it, and we'll refile it.

MS. HARE:  Thank you.

MR. MILLAR:  J12.2.
UNDERTAKING NO. J12.2:  TO REFILE EVIDENCE RELATED TO RELATIVE WEIGHTINGS

MR. AIKEN:  Would you agree that if you changed the relative weightings, there could be significant changes in the costs allocated between the 01 and 10 rate classes and between the M1 and M2 rate classes?

MR. TETREAULT:  I don't know, Mr. Aiken, that I would agree that they'd be significant, but I would expect to see some change, yes.

MR. AIKEN:  And now if you would turn to the last page of the LPMA compendium, this table is similar to the one on the previous page that we just talked about, except it uses the current 50,000 cubic metres breakpoint and adds a number of columns.

The only difference is the number of customers used.  the weights remain unchanged, as does the methodology to split the total customer-related costs.

Will you accept, subject to check, that the implied cost allocation based on this methodology and the weights used as shown in column (e) -- and that's titled "Implied Cost Allocation".

MR. TETREAULT:  I accept the math, the calculations on the table, are correct.  I question the methodology.  As I understand this sheet, Mr. Aiken, it's an attempt to, I'll say, reverse-engineer the 2013 cost allocation based on these weights.  And I have perhaps two concerns with that.

One is I think that it's an attempt do this based on 2010 actuals, which we've of course used in 2014, similar to the '07/'08 split of M2.  But that isn't required for the 2013 cost allocation study, where we have a proper 2013 forecast of both customers and volumes in all of the four general service rate classes.

So I think fundamentally that was my official concern with the results I was seeing on this page in terms of methodology.

MR. AIKEN:  Well, in terms of methodology, do you agree that the only -- or that there is actually no change in methodology on this page compared to what you're proposing?  The only change is that instead of using the number of customers based on the 5,000 cubic metre breakpoint, I've used the number of customers based on the 50,000 breakpoint?

Your evidence does the same calculation based on 2010 number of customers based on the 5,000 breakpoint; is that correct?

MR. TETREAULT:  That's correct; however, this comparison relates to 2013, if I understand it correctly.

MR. AIKEN:  Well, I haven't got to columns (f) and (g) yet.  I'm just up to column (e).  Is the methodology to come up with the split the same as your methodology, and the only change is I'm using 2010 customers based on the 50,000 breakpoint, whereas you used 2010 customers based on the 5,000 breakpoint?

MR. TETREAULT:  Up to column (e), I can accept what you're saying.

MR. AIKEN:  Okay.  Now, in terms of your concerns between 2010 customer numbers and 2013, your methodology did not use 2013 number of customers?

MR. TETREAULT:  No, it did not.  We needed to use 2010 actuals to effect the breakpoint split at 5,000, so actually looking at the billing data from that year to understand what customers mapped into small volume versus large volume general service classes at a new breakpoint.

MR. AIKEN:  And you have no evidence to suggest that if you use 2013 data or 2012 data, for that matter, for that number of customers, that the proportions between the 5,000 breakpoint and the 50,000 breakpoint would be significantly different than the 2010 data you've used?

MR. TETREAULT:  No, we don't, but you would certainly need to use actual data to effect the 2014 split.  You wouldn't have the information you need to do it based on a forecast.  You would need actual information to do that, which is consistent with the methodology that was used in '07 and '08 to ultimately split the former M2 class into M1 and M2.

MR. AIKEN:  Well, why wouldn't you have forecast number of customers for 2014 broken down into the two different groups?  I mean, you must have -- you must have a forecast of the number of customers that are going to be in each of your new rate classes that you're proposing, so that when you do your forecast, that it's revenue neutral, you know how many customers are going to be at the $35 charge, for example, versus the $70 charge that was in 2013.

So you must have a forecast somewhere of 2014 number of customers by your new rate classes.  Otherwise, how do you know it's revenue neutral?

MR. PANKRAC:  At page 3, tab 11, schedule -- I'm sorry.  Page 3, tab 11, schedule 2.  I apologize.  At page 3, tab 11 --


MS. HARE: You're not on.

MR. PANKRAC:  I apologize.  At H3, tab 11, schedule 2, we show that reconciliation.  And what we do for the revenue neutrality is, in that exhibit, you'll see that we have in total the same number of customers for Rate 1 and Rate 10 in total, and we also have the same annual volume in total, and we have the same revenue in total.

So in coming up with the 2014 proposal on a revenue-neutral basis, what we have done is we have actually taken the same customer count and the same annual volume in total for -- by each operating area and matched them.

MR. AIKEN:  But I see, for example, at line 8, the monthly charge, you have -- in column (a) you've got 24,573 billing units, and then in column (d) you have 254,880.  So implicit in there is a forecast of the number of customers that are switching.

MR. PANKRAC:  That's correct.

MR. AIKEN:  Okay.  So you do have a 2013 forecast, is what you're saying?

MR. PANKRAC:  Yes.  We've made a determination, yes --


MR. AIKEN:  Okay.

MR. PANKRAC:  -- of how many customers are in each grouping; that's correct.

MR. AIKEN:  Now, if we come back to page 26 and move to the next column, column (f) is your actual cost allocation.  This is taken directly from page 1 of the attachment to Exhibit JT2. -- I believe it's 27, which is shown on page 15 of the SEC compendium, if you want to go back and look at that.  Yes.  JT2.27.


MR. TETREAULT:  Sorry, Mr. Aiken, which page was that?

MR. AIKEN:  Fifteen.

MR. TETREAULT:  Thank you.

MR. AIKEN:  And those numbers that I've put in column (f) are in column (a) on the SEC page 15 document, and then column (g) shows the difference between the implied and actual allocation of the customer-related costs.

And would you agree that this difference is significant?

MR. PANKRAC:  For the large-volume classes, you can see the effect of using this approach.  In the small-volume markets that have in the north about 300,000 customers and in the south 1 million customers, you can see that 2.7 million that appears in column (g) on a base of about 120 million amounts to a 2 percent difference.

And you'll also see that in terms of the customer-related costs for rate M1, that the 6 million out of, call it, about 300 million amounts to a 2 percent difference.

And so what we see is that for the large-volume customers, the large-volume class, which incur most of those costs, that we are within 2 percent, recognizing, as Mr. Tetreault said earlier, that there are differences.

But even accepting those differences, we are within 2 percent of the costs for the largest of the classes.

MR. AIKEN:  And for the Rate 10 and rate M2, would you take it subject to check that there's about a 70 percent difference?

MR. PANKRAC:  There will be a larger difference, and that is because of, again, class size.  And this is why we have focussed in our rate design criteria for re-design that one of our goals is to have sufficiently large classes so that the averages are meaningful.

MR. AIKEN:  Does the 70 percent change for the Rate 10 and rate M2 -- or difference, I should say, does this cause you any concern related to the weights that you're proposing to use to allocate costs to the customers that you'll be moving from one class to another; in other words, the 1.0, 1.5 and 2.0?

MR. PANKRAC:  No, it does not, because in the larger-volume classes, remember that while the smaller-volume classes, most of the costs are customer-related and so you want to correlate to that, in the larger-volume class, those being rate M10 and M2, the lion's share of the cost is actually demand related.

So what we have is -- what we would be concerned about is if the prediction of the demand-related costs or the volumetric-related costs were materially different.

Customer-related costs, as we looked up on an earlier exhibit, for the larger volume classes just make up a much smaller share of the total class costs.  And so our two objectives are for the small volume classes to have a good predictor of the customer-related costs in those classes, and the customer-related costs play a far smaller role in the larger volume classes.

And I believe that our earlier reference to fixed and variable cost recovery showed that customer-related costs in the large-volume classes make up a far smaller portion of the total losses of those classes.

MR. AIKEN:  So you're basically saying that you're okay with the weights that you're using because they have a small impact -- or, sorry, they have the large impact, but it's on a small component of the costs allocated to rates 10 and M2.

MR. PANKRAC:  Yes.  In terms of perspective, we look at, you know, 80/20.  We look at what is the dominant feature of the rate class and have we matched on that feature?

And earlier we pointed you to J.H-1-15-2, which dramatically shows that in the large-volume classes the driver, the biggest single costs, are the demand-related costs.

MR. TETREAULT:  The other factor, as well, Mr. Aiken, that gives us comfort is that we have applied this methodology previously.  What we're doing in 2014 to change the breakpoint is consistent with what was done in 2007, effective 2008, to split the former M2 into its current structure.

MR. AIKEN:  But you would agree that just because you've done it before doesn't mean it should be done again?

MR. TETREAULT:  We have no reason to believe that methodology isn't as appropriate as it would have been in 2007.

MR. AIKEN:  Does this cause you any concern related to the weights that you're proposing to use -- I'm sorry.  Does it cause you any concern that if you believe in the weights that you are using, that there may be a problem with the cost allocation model, that it is giving you significantly different results?

MR. TETREAULT:  No, I don't have any concerns with the accuracy of the 2013 cost study.  My challenge with page 26 of your compendium, Mr. Aiken, is what I mentioned earlier, which is trying to apply -- trying to reverse-engineer the cost allocation results.

And, in my mind, that isn't appropriate to attempt to do, to take 2010 actuals and derive an implied cost allocation, when we have a proper 2013 forecast number of customers for the classes in question.

So I'm very comfortable with the results of the 2013 cost study.

MR. AIKEN:  Can you go back to page 18 of the SEC compendium?  Now, I couldn't recall, but I think Mr. Shepherd brought you to this at some point on Thursday, and did you accept the calculations as they're laid out here?

MR. PANKRAC:  No, we didn't, because in the top thing, what we have is you have a number of groupings that do not necessarily correspond to rate class.  And as we pointed out to Mr. Shepherd, really the up to 5,000 is one rate class, and then the next two, the 5,000, the 50,000 and over 50,000, in fact constitutes the other rate class we're proposing.

So this approach does not line up with the class rate-making.  So to the extent you pick a subset of that class, you will get different results.

MR. AIKEN:  Okay.  Well, let's talk about those different results.  I'm going to concentrate on the south.

So if we look at the 5,000 to 50,000 group, do you agree that there are 50,847 customers based on your evidence in this group?

MR. PANKRAC:  I'm sorry, was there a question?

MR. AIKEN:  Yes.  Do you agree that there are 50,847 customers in the group 5,000 to 50,000 based on your evidence?

MR. PANKRAC:  Yes, I see that.

MR. AIKEN:  And do you agree that the customer-related costs associated with these customers that will be moving is the $13,015,000?

MR. PANKRAC:  I understand how Mr. Shepherd has done his derivation, and I accept that that is the number you would get.

MR. AIKEN:  And do you also accept that the per-customer charge of 255.96 is based on the two numbers from your evidence?

MR. PANKRAC:  I accept that.

MR. AIKEN: And similarly, do you accept those calculations for the up to 5,000 and the over 50,000, that these numbers are calculated based on figures taken directly from your evidence?

MR. PANKRAC:  I accept that.

MR. AIKEN:  Now, does it make sense to you that the customer-related costs per customer for the group of customer that you want to move from rates M1 and 01 to M2 and 10 are lower than that for the smaller customers they are leaving behind as shown on page 18 of Mr. Shepherd's compendium?

MR. PANKRAC:  That is the result of the approach Mr. Shepherd has taken, which is not a class approach.  It's not a rate class approach.  And so if you mechanically calculate that, that's the result you get.

However, if you take the 5,000 to 50,000 and the over 50,000, you will in fact have a customer-related charge that is more meaningful.

MR. AIKEN:  You keep calling this "Mr. Shepherd's approach", but this is your approach, is it not?

MR. PANKRAC:  No, we proposed to do this along class rate-making lines.  This is not --


MR. AIKEN:  But your approach is to move 50,847 customers.  Your approach is that you've allocated 13,015,000 to those customers that you propose to move from one group to another.  So this is not Mr. Shepherd's approach.  This is Union's approach; is it not?

MR. PANKRAC:  Yes, we prefer that that approach be stated on a rate class basis, but it is our approach.

MR. AIKEN:  If you had decided to have three rate classes instead of two --


MR. SMITH:  Mr. Aiken, I think Mr. Tetreault is going to explain.

MR. TETREAULT:  Mr. Aiken, it might be worthwhile -- sorry, it is worthwhile to look at Exhibit H3, tab 1, schedule 3.  What that schedule does is show the average unit rate in the general service rate class.  And implied in Mr. Shepherd's questions on Friday was that the average unit rate in the large volume rate classes is higher than the average unit rate in the small volume rate classes, and I can't accept that.  It's not true.

And Exhibit H3, tab 1, schedule 3 I think shows that quite succinctly.  And as we're focussed on the south, if you look at page 2 of this schedule, line number 1, which is the delivery line, you can see that considering the total revenue for the class, total volumes for the class, the average rate for M1 is approximately 13 cents, 13.01.

Similarly, if we look at line 4, which is the delivery line for M2, you can see that the average unit rate for M2 -- again, the class as a whole in 2013, is 4.3 cents.

So what you're truly seeing is the economies of scale that you would expect with volume.

Unfortunately, we have not filed a similar schedule for 2014, but I can tell you that the same declining trend is happening in 2014 as we see in 2013.  And that gives us a great deal of comfort that, overall, the cost allocation and the rate design for the general service classes is appropriate.

MR. AIKEN:  If we just stick with page 18 of Mr. Shepherd's compendium, I think you're getting hung up on the fact that you're not proposing this third rate class.  So let me ask the question this way.

If you were proposing three rate classes instead of two in the south, so that you had M1 up to 5,000 as you're currently proposing, but you were maintaining M2 at over 50,000 and you had M1.5 that was for everybody in between, would your numbers, the number of customers and the related costs that you're proposing to move into that new M1.5 rate class, would that be different than the numbers shown here?

MR. PANKRAC:  In another IR response, we were asked to address the issue of:  Should there be three rate classes?  And our point was that one of our bases for differentiating rate classes was that there should be reasonable differences between those classes.

And, also, if we were to go to three rate classes, you can see the problem you would have with a continuum.  You would literally have results that are not meaningful and class sizes that are not meaningful either.  We would still, for example, have not addressed that we have a problem with the over 50,000 in the north only having 1,700 customers.

And to put that into context, if we were to look back in our evidence, the problem we have with the largest of those classes being over 50,000 cubic metres currently is that, for example, in Union north we used to, in 2007, have about 3,000 customers, and that has now gone to 1,700 customers.  And so you can see it's just a dramatic thing.

And our goal has in fact been to restore the rate class sizes.  So that is why the weakness of the approach of taking three is it still doesn't address, for the largest of those classes that we feel we don't have sufficient class size, and therefore not meaningful averaging.

MR. AIKEN:  Okay.  You didn't answer my question.  If you went to three rate classes, would those numbers for customers and customer-related costs be the costs that you would be proposing to move into rate M1.5?

MR. TETREAULT:  The numbers are reasonable as they're presented.  I can't, Mr. Aiken, accept the hypothetical, though.  As Mr. Pankrac said, we're not proposing to split the class along these lines, so to -- so I struggle to agree with you entirely from that standpoint.

MR. AIKEN:  If the Board directed you to split your M1 and M2 into the components shown, would the numbers for the 5,000 to 50,000 range be different?

MR. TETREAULT:  It would be a function of the methodology, I think, that would be used to split the class into three subgroups from the two.

MR. AIKEN:  If the Board accepted that your methodology you're proposing, but told you to have three classes instead of two, are those numbers the numbers that the Board would base its decision on?  I'm just -- it's a simple question.

Would you allocate -- would you change your methodology if you were to have three rate classes instead of two?

MR. TETREAULT:  I don't know, Mr. Aiken.  This obviously is not our proposal, so I struggle with agreeing with your statement.  As I mentioned, it's a hypothetical scenario, and were Union proposing three general service rate classes as opposed to two, we would need to consider how best to do so.

MR. AIKEN:  Okay.  But do you agree that it looks unusual that the per-customer customer-related costs of the group of customers you're moving out of the small class are lower than the customers you're leaving behind, and, at the same time, they're significantly lower than the class that you're going to put them into?

In other words, the average cost for the people you're moving is $255.  The ones that are left over in the so-called small class are $285.  And where you're moving these ones with the low average cost, the ones that are already there have an average cost of more than $1,400 per customer.

Do you agree that that appears to be unusual?

MR. TETREAULT:  I don't necessarily know that I would agree with that.  I mean, we are trying to apply a methodology that's been applied before.  We're very comfortable with that.  It won't necessarily be a perfect representation of cost allocation, but it is a very reasonable proxy of a way to split the costs, consistent with the manner in which we've done so before.

MR. AIKEN:  If we go to page 17 of the SEC compendium, this deals with the allocation of the other delivery-related costs related to the customers to be moved to -- yes, the customers to be moved.

Now, I believe you discussed this last week with Mr. Shepherd.  So am I correct that these costs are costs that vary with annual volumes and the demand or capacity-related costs?

MR. PANKRAC:  That's correct.

MR. AIKEN:  Okay.  And you're proposing -- excuse me.  You're proposing to allocate these costs based on annual volumes?

MR. PANKRAC:  That's right.

MR. AIKEN:  Now, earlier today you indicated that demand- or capacity-related costs are generally allocated on peak demand.  So my question is:  Why are you proposing to use annual volumes for your breakpoint proposal?

MR. PANKRAC:  Because at the end of the day, I have a rate design in these classes.  I don't have a daily meter.  So I'm not able to build demand for those customers, because the cost of putting daily meters in, for us, would be simply ridiculous.

So in my rate design I have two things.  I have a monthly customer charge and I have a volumetric charge.  And so given constraint, the constraint of not having daily metering on these accounts, then my approach says I need to address what the customer charge level would be, and I need to address what the balance of the costs, be they demand-related or volume-related, are in a volumetric rate.

MR. AIKEN:  Well, how do you allocate -- or how did you determine what the peak demand is for residential, commercial, and industrial customers under the current M1 and M2 breakdown?

MR. TETREAULT:  Sorry, under current cost allocation, we receive the demands in aggregate for M1/M2, and for Rate 1/Rate 10, and allocate those demands to rate class based on volume, which is consistent with the methodology that we're -- that we're discussing on page 17.  It is entirely the same approach.

MR. AIKEN:  Sorry, I thought you just said you allocate them based on volume, but earlier today you indicated you allocate the peak day related costs -- or, sorry, the demand-related costs based on peak day, not on annual volumes.

MR. TETREAULT:  As a general cost allocation principle, that's true.  However, Union does not have a general service forecast on that basis.  What we have are demands in aggregate for the two general service classes in the north and the two general service classes in the south.

And the current cost allocation to split those demands, because we don't have it by rate classes, is to do so on the combined annual volume of the two classes in each operating area.

So the approach we're taking here for 2014 is consistent with that approach.

MR. AIKEN:  So I take it from that that you have no relative weights for peak demand, for residential versus commercial versus industrial?  In other words, an industrial peak demand, in your cost allocation, is the same as a residential peak demand?

MR. TETREAULT:  We have total demand for the two general service class combined in each operating area, yes.

MR. AIKEN:  Now, how is that different than what you have or don't have for customer-related costs?  Do you keep accounting records so that you can distinguish, for example, an M1 industrial versus an M1 commercial versus an M1 residential?

MS. STEVENSON:  In 2013, we do have the residential-commercial-industrial forecasts that we use in certain allocators.

MR. AIKEN:  But my question was:  Do you have the plant accounting, for example, that you know that, Here's the meter costs, the service costs, the regulator costs for Rate 1 residential, and then you have a separate line item for Rate 1 industrial?  Do your accounting levels go to that level of detail?

MS. STEVENSON:  I believe that some of those records are available, but I'd have to check with our plant accounting records to see what level of detail is available for each different type of cost.

MR. AIKEN:  Now, do you know what the approximate breakdown of the total other delivery-related costs of 62-1/2 million in the north and 135.6 million in the south, shown on page 7 of the SEC compendium, are demand-related?

Earlier you said the lion's share are demand related.  So I'm asking to quantify the size of the lion.

MR. PANKRAC:  Yes, and that is what we have in the J1. -- I believe it's J1.14.2.  We do know what the fixed costs are for each -- the demand-related costs are for each of the large volume classes.

MR. AIKEN:  And can you give an approximate percentage of what those fixed costs are of the non-customer-related costs?

MR. PANKRAC:  Yes.  In J.H-1-15-1, which I'm just turning up now, we do show at attachment number 4, line 1 and line 6, the relative proportion of the fixed costs.

So for -- if you look in column (b), you can see that for rate M2, the large-volume class in the south, the customer-related are about 22 million, but the demand-related are about 60 million.

And, similarly, if you look in column (d), you can see the customer-related are 10.5 million and roughly 27.3 at line 6.

And, hence, the claim that for the large volume classes, the costs are predominantly demand related.

MR. AIKEN:  So looking at this schedule on line 6 for rate M2, demand-related costs are 60 million, customer-related are 22 million at line 1 --


MR. PANKRAC:  Correct.

MR. AIKEN:  -- and the remaining volumetric-related on line -- is that line 7?  No, that wouldn't be line 7.

MR. PANKRAC:  No, that would be just the resid -- line 7 is the amount of fixed costs that are transferred into volumetric rates.

MR. AIKEN:  Okay.  So am I missing something here, because I --


MR. PANKRAC:  Yes, we --


MR. AIKEN:  We have the customer-related costs and the demand-related costs.  Does that total the total allocated costs, or is there a third line?

MR. PANKRAC:  No.  To answer your question, to complete the picture, what would really need to know is what portion for each those classes are volume related; right?  In the cost study, you've got the customer-related, the demand-related and the volume-related costs.

So the part that is missing on this schedule would be the volume-related costs.

MR. AIKEN:  So would you undertake to provide an additional line item to this schedule that shows the volumetric-related costs that are not covered by customer and demand related?

MR. TETREAULT:  Yes, we'll do that.

MR. MILLAR:  J12.3.
UNDERTAKING NO. J12.3:  TO PROVIDE AN ADDITIONAL LINE ITEM TO J.H-1-15-1, ATTACHMENT NUMBER 4 WHICH SHOWS VOLUMETRIC-RELATED COSTS.

MR. AIKEN:  Thank you, panel.  Those are my questions, and I ask to be excused.  I think I'm needed in the other room.

MS. HARE:  Thank you.  We'll take our morning break now, returning at 11:20.

--- Recess taken at 10:59 a.m.

--- On resuming at 11:23 a.m.

MS. HARE:  Please be seated.  Mr. Quinn, are you next?  Mr. Mondrow would like go next?

MR. MONDROW:  I am prepared.  Thank you, Madam Chair.

MS. HARE:  Thank you.
Cross-Examination by Mr. Mondrow:

MR. MONDROW:  Good morning.  And good morning, witness panel.  My name is Ian Mondrow.  I act for the Industrial Gas Users Association, IGUA, in this proceeding.  And I have just a few questions for you, because most of our area has been covered by others, but I did come today because I have a few questions arising mostly from your discussions on Friday with Mr. Wolnik.

And Mr. Tetreault, I believe it was you -- and I can give you the transcript reference, if you wish.  It's page 42, lines 3 to 5 of Friday's transcript.

And you were talking with Mr. Wolnik about the issue of rate shock, which came up later in the day.  And you said:

"I think 'rate shock' itself is a fairly subjective term, that different parties will have different views on."


And I wondered if you can tell us what your view is on what would constitute rate shock.


MR. TETREAULT:  I don't know, Mr. Mondrow, that I have a specific percentage or a specific number in mind.  My point on Friday in this discussion was merely to point out, as I said, that that can be a subjective measure.  I am, obviously, aware that there are some north rate increases that are large and of concern to us and intervenors.

But, as I said, I think rate shock is somewhat subjective, particularly in the context of the fact that the delivery portion of the bill is a relatively small portion of a customer's overall natural gas energy needs.

MR. MONDROW:  So the Board has in the past, and this was alluded to later in the day, as well, used 10 percent as a kind of an acceptable measure of year-over-year rate impact.  Is that an appropriate measure or is that the wrong measure, in your view?

MR. TETREAULT:  The Board has clearly used that measure in the past.  I don't know whether I could comment as to whether it's appropriate or not.  Clearly the Board has found it to be.

MR. MONDROW:  But it's not your position or the company's position that the Board should revisit that, is it?

MR. TETREAULT:  That's correct.

MR. MONDROW:  All right.  So if I could go to -- and this is an interrogatory response to Board Staff which has been referred to many times in this proceeding.  It's J.H-1-1-2, and this is the interrogatory that asks about, among other things, the rate impact for your northern customers and rate mitigation measures.

And I wanted to just quickly ask you a few questions about the proposed rate mitigation measures.  I know you've had some discussion of these, and I don't intend to go through them in detail, but there are a couple of things I just want to cover with you.

And you can see that discussion starting at page 4 of the interrogatory response.  And you will see there, and you've seen this before, I know, that there are four suggestions or options for consideration that you offered.

I understand it's not Union's position that the rates are inappropriate, and I understand that you're not proposing rate mitigation, and I understand it's your position the rates are just and reasonable.

But, nonetheless, you have provided in this response four mitigation options were the Board inclined to consider mitigation.

And the first of those is to phase in the increase in your equity thickness over time, and I think you offered between two and four years to phase that in.  And I'm not going to ask you about that.

The second is to phase in weather methodology change over the course of time, and there you had a two- to five-year range, and again I don't have any questions on that.

The third, as I understand it, is a proposal to include in revenues, and stream that revenue inclusion to those northern customers most in need of mitigation, I gather, FT RAM credits that Union has historically realized on its TransCanada firm transportation contracts.  That's what that third option is; right?

MR. TETREAULT:  It is.  Just to be clear, Mr. Mondrow, that's not our proposal, though.

MR. MONDROW:  Oh, I understand.  I understand.  But this is an option that you offered for consideration were someone inclined to consider mitigation?

MR. TETREAULT:  Correct.

MR. MONDROW:  And I just want to -- and I don't think this is on the record anywhere else in any detail.  I just want to spend a minute understanding what FT RAM credits are.  As I understand it -- and you can tell me if you have an understanding of this or not, but, as I understand it, TransCanada provides its FT-contracted shippers a credit against their bill for capacity that they've contracted but they don't use.

Do you have an understanding of that?  Is that the same understanding?

MR. TETREAULT:  That's correct.

MR. MONDROW:  Okay.  And the intention of the FT RAM program was to retain or attract FT volumes to the Mainline, as I understand it?

MR. TETREAULT:  That's my understanding.

MR. MONDROW:  All right.  And TCPL's current position, as filed before the National Energy Board, is that mechanism has been ineffective, in fact has aggravated the loss FT volumes, and TCPL proposes to discontinue that program; right?

MR. TETREAULT:  Yes, they do.

MR. MONDROW:  All right.  And if you were to or if -- not you, I guess, because you're not proposing, but if the Board were to direct mitigation using, among other things, this proposal to credit to revenue for some of these customer classes some FT RAM revenue, and the RAM credits in fact disappeared effective 2013, how would the under-recovery -- because you're proposing a variance around -- well, you're not proposing, but you suggested you would require a variance around this.

How would that under-recovery then be recovered from those customers that temporarily, at least, had the benefit of this credit?

MR. TETREAULT:  That's a good question, Mr. Mondrow.  I don't know that I have a good answer for you, though, unfortunately.  We haven't really turned our mind to how we would deal with the deferral account mechanism and how -- should there be an under-recovery, to use your term, how we would recoup that.  And, specifically, we haven't done that, because we are not proposing that type of rate mitigation.

MR. MONDROW:  All right.  Now, if the Board were to direct this option, among others, or as an option to mitigate rates and FT RAM credits went away, would it be appropriate, in your view, to then phase in or feather in over time the under-recovery so as to preclude returning to the very rate shock that was intended to be mitigated?

MR. TETREAULT:  That is typically not our practice with regard to deferral accounts that are dealt with in our annual deferral disposition.

Typically, you deal with whatever the annual balance happens to be.  And you would generally recover it over the course of the year or in a one-time adjustment from customers, depending on whether those customers are contract rate or general service.

MR. MONDROW:  All right.  But if you were to do that in this case, follow your general practice, and let's just assume -- I know this is difficult, but just assume with me for a minute that rate mitigation is directed, so you have to do so.

And among other things, you're directed to take advantage of this option that you've suggested as one that could be considered.

In order to preclude the rate shock mitigation from being immediately reversed, you would in fact have to defer over time recovery of that credit initially given to these customers, wouldn't you?

MR. TETREAULT:  That's a possibility.

MR. MONDROW:  Okay.  And you could do that mechanically.  You would simply put it in a deferral account and you would accumulate, presumably, interest on it and, on an appropriate schedule, you would clear those deferrals over the course of some number of years to rates?

MR. TETREAULT:  Yes.  I think mechanically there would be no concern.

MR. MONDROW:  And, similarly, you could do that as an overall rate mitigation strategy.  If you were directed to, you could take whatever amount of rate mitigation was required and you could put it in a deferral accounts, and you could recover it over some amount of time that is either, in your view, appropriate or that's directed by the Board?

MR. TETREAULT:  Yes, that's fair.

MR. MONDROW:  And, Ms. Stevenson, I think this was you on Friday.  There was some discussion of the reduction agreed for distribution plant in the settlement agreement that you then had to apply somehow to your rate allocation -- your cost allocation.  And I think you made the point on Friday you weren't directed how to do that, so you made a choice.

And your choice was to allocation that reduction to what you called the largest cost item in distribution, and that was -- that is mains, as I understand it.

MS. STEVENSON:  Yes.

MR. MONDROW:  Do you recall that discussion?

MS. STEVENSON:  Yes, that's correct.

MR. MONDROW:  All right.  And the result of that allocation, I think your evidence was, to reduce rates 1 and 10 for the most part?

MS. STEVENSON:  Yes.  That's correct.

MR. MONDROW:  And there were some, in fact, offsetting impacts on some other rate classes that actually came up a little bit because of that?

MS. STEVENSON:  That's correct, as a redistribution of some of the general costs.

MR. MONDROW:  All right.  Did you consider any other ways to spread around that rate base reduction in order to effect a different form of mitigation or spread that mitigation among your customers?

MR. TETREAULT: No.

MR. SMITH:  Sorry, the reason I paused is the adjustment of distribution, I believe -- I would have to call it up, but my recollection there is a $12 million reduction which is specified in the settlement agreement itself.

So I do have some concerns about alternatives to making a $12 million adjustment to other rate base items, that adjustment having been agreed that it would be to distribution.

MS. HARE:  Are you now reading from the settlement agreement?

MR. SMITH:  Yes, what it says is:
"The parties agree to reduce Union’s proposed 2013 distribution-related rate base by $12.0 million which equates to approximately $24.0 million in 2013 capital expenditures."


So the settlement agreement specifically talks about the adjustment being to distribution-related capital.  That's my concern about examining alternatives at this stage.

MS. HARE:  Okay.  So just so that I understand, I heard Ms. Stevenson said it would be in the mains category of distribution.  Are there other categories that would still be in the realm of distribution that it could have been applied to?

MS. STEVENSON:  Yes, there are other costs within distribution.

MS. HARE:  That it -- okay.  Well, then I think Mr. Mondrow can proceed.

MR. MONDROW:  Thank you, Madam Chair.  And I saw the same evidence, or there was evidence on Friday Ms. Stevenson gave that they weren't directed, so they made a choice.  That's why I'm pursuing this.  I certainly don't intend to question anything that was settled.

So Ms. Stevenson, you've advised that there are other options within distribution plant for allocation, and my question was whether there was any consideration of those other options in respect of spreading that mitigation further afield than it has been spread, given the choice that you made?

MS. STEVENSON:  We were looking for a simplifying assumption, so when we made the choice, we wanted to select the largest account, and that was the decision we made.

MR. MONDROW:  Are there, in fact, other ways to allocate that reduction, in accord with the settlement agreement, that would spread mitigation more broadly than has resulted from the choice that you made?

MS. STEVENSON:  Yes.  You could apply it to different costs within distribution plant.

MR. MONDROW:  All right.  On Friday there was an undertaking given.  It's Undertaking J11.10, and it was subsequently either modified or clarified, and it's not a clear to me.  And it's still not entirely clear to me what the company intends to do in response to that undertaking.

But here's what I'd like to do.  I'd like to put to you what I think, certainly from my perspective and hopefully from the perspective of others, would be helpful in respect of that response, and ask if either you or through your counsel you could consider responding in this fashion.

And it seems to me what would be helpful is -- and, again, there are four mitigation measures provided in your interrogatory response to Board Staff that I took you to a minute ago, and I've asked about two more, and I will define those more particularly for you.

What it seems to me would be useful would be to have the rate impact across all your rate classes for each of the mitigation measures that has been discussed, and I will list them for you in a moment if you need me to, and include in that -- so each of them separately.  But, also, to the extent that applying two or more of them has some sort of cumulative impact, either increasing the mitigation or decreasing the mitigation because you're grouping them, I think that would be important information for the Board to have, certainly for us to have when we consider our position at the end of the day.

And so to the four measures that you included -- well, I guess really it's three measures in that interrogatory response, because the fourth one, which I didn't ask you about, is actually shifting costs as between rate classes.  You have termed it as adjusting the revenue-to-cost ratios to rates.

MR. TETREAULT:  That's correct.

MR. MONDROW:  So you could do that to plug in a gap, it seems to me, as opposed to the first three, which have finite amounts of money, and so there's only so much you can do with that.

MR. TETREAULT:  The final mitigation measure would be more of a rate design tool.

MR. MONDROW:  Right.  Okay.  So I wonder if you could, in the way that I've described, give a rate impact for each of your rate classes for the first three mitigation measures that you and I have talked about, the first three in the interrogatory response, which are phasing in the equity thickness I would say over four years, phasing the weather methodology over five years, and then the FT RAM allocation -- revenue assumption, and how you would allocate that.

And then you would have to include in that, it seems to me, any impact of layering those one on top of the other, because it would change the individual components, I would think.

And I would ask you then to add to that list this notion of an ability to defer recovery with carrying costs, and maybe use that deferral as the -- well, let me back up.

Before the deferral, perhaps it would be more appropriate to layer in the alternative allocation of reduction to rate base, because that's also a fairly finite number from the settlement agreement, if there is one that spreads the mitigation around, and then to add in at the end of that sequence the deferrals that would be required and the time frame that you would think would be appropriate in order to achieve the 10 percent benchmark that was discussed on Friday for what might constitute an undue increase year over year in rates.

Would that be something is that you could do in the context of this response to give it perhaps a little more structure?

MR. SMITH:  The reason I'm pausing is I believe that between undertakings given to Mr. Wolnik and undertakings given or an undertaking given to Mr. Buonaguro, I believe, I believe we have already agreed to provide, I'll say, the first half or more of what Mr. Mondrow is now asking for, which is the specific impact of each of the items that are set out in the interrogatory we had been looking at by rate class.

The second, I guess there's two parts to the second part of the request.  The first is just a blanket defer recovery for some period of time.  Yes, we can do that.

And the third was whether we can reallocate distribution-related plant to other distribution-related items and what the impact of that will be.  And, yes, we can do that as well.

MS. HARE:  And I think the undertaking to Mr. Wolnik, J11.10, asked about any other types of mitigative measures.  And so I think that the addition that Mr. Mondrow is asking for is to then look at what it is impact per rate class.  Is that what you're looking for, Mr. Mondrow?

MR. MONDROW:  That's correct.  And, in addition, there may be -- if you layer on these various mechanisms, you may not get the total.  You may get something more, or more likely something less than the total mitigation because of the earlier mechanism.  So I'd want some sort of reconciliation so that one could argue what the Board would end up with at the end of the day, we're certain the proposals apply.

MR. SMITH:  We can do that.

MR. MONDROW:  And, sorry, just to be clear, Mr. Sommerville, I was suggesting that this last mechanism, which I've called a deferral to bring rate changes back to the 10 percent benchmark, would presumably be a stopgap measure.  And in that respect, I'd be interested in understanding how much would have to be deferred, and over what period, to preclude returning to a rate shock situation.

So I assume that that's part of what Mr. Smith is comfortable with, but we'll just wait and see.

MR. SMITH:  Yes, that is fine.

MR. MILLAR:  J12.4.
UNDERTAKING NO. J12.4:  FOLLOWING PREVIOUS UNDERTAKING, TO PROVIDE IMPACT PER RATE CLASS

MR. SOMMERVILLE:  It may be worthwhile -- given the complexity and interdependence of the various pieces of that undertaking, it may be worthwhile, can I suggest, for the parties to sort of talk about that as it's being developed so that we are not missing each other at this late stage in what is really being sought and what's reasonable to produce.

MR. SMITH:  Yes, that's a sensible suggestion.

MR. SOMMERVILLE:  Thank you.

MR. SMITH:  Thank you.

MR. MONDROW:  Two more areas that I want to ask you about very quickly, please, witnesses, if I could.

And for the first, it's probably easiest to go to the APPrO compendium, which I believe is Exhibit -- or, no, sorry.  That's not -- yes, it is.  It's Exhibit K11.5, which is what I've been referencing in my work here.

And let me just find the right page for you of that.  It's page 25 of 27, which is a table entitled "Union North In-Franchise Revenue Requirement Comparison By Rate Class."

And I'd like to ask you I think just one or two questions about the 2013 less 2007 Board-approved set of columns.  And, in particular, I want to ask you about Rate 100, which I guess is column (p), as in Peter.

And if I go to line 21 -- sorry, if I go to line 24, which is the last line of the table, "total revenue requirement", I see a negative number of just over $4 million.  Am I reading that right?  That's just over negative $4 million?

MR. TETREAULT:  That's correct.

MR. MONDROW:  And that indicates to me, Mr. Tetreault, that costs for Rate 100 in 2013 relative to 2007 have come down significantly; is that right?

MR. TETREAULT:  That's correct.

MR. MONDROW:  All right.  And so then to understand the proposed, I think it's 29 percent rate increase for Rate 100, if I go to the next page of the APPrO compendium, so page 26 of 27, I see a table which provides for Union North customer classes volume changes over both 2013 and -- sorry, over both 2011 and 2007.  And under the Rate 100 column, column (d), as in door, I see volumes for Rate 100 are coming down.

Am I reading that table correctly?

MR. TETREAULT:  Yes, you are.

MR. MONDROW:  Okay.  And so I gather that, then, in respect of Rate 100, the basic reason for the increase in Rate 100 proposed for 2013 is not a cost increase but, rather, a loss of volume or a volume reduction.  Is that generally a sound conclusion?

MR. TETREAULT:  Yes, it is.

MR. MONDROW:  Okay.  And is that volume reduction because of customer switching, or a net volume decrease on your system; do you know?

MR. TETREAULT:  My understanding is it's a combination of both those factors.  And that is why, on line 8 of column (d), Mr. Mondrow, you see a net reduction in Rate 100 contracted demands of 1,703 103 m3 a day relative to the increase you see, which is obviously smaller, in Rate 20 in column (c).

MR. MONDROW:  So you've got Rate 100 customers switching volumes to Rate 20?

MR. TETREAULT:  That's one factor, yes.

MR. MONDROW:  One factor.  And I think you've probably reviewed this with Mr. Wolnik, from what I could understand from the transcript, and, frankly, his understanding is a lot better than mine, but can you tell me generally what sorts of costs, like by type or category and general nature, do not follow those volumes when they switch to Rate 20, because if there was a match of the -- if costs were going up together with the volumes, you wouldn't get an upward pressure on Rate 100 rates, it seems to me.

So there must be costs going out, but not in proportion to -- sorry, not all the costs are going out following those customers that were previously attributable to those customers.

So I'm trying to get an understanding of what costs are you not eliminating from Rate 100 with the elimination of those volumes by type, general type.

MR. TETREAULT:  I'll attempt it this way, Mr. Mondrow.  Generally speaking, the customers that are switching from Rate 100 to Rate 20 would be customers that have relatively expensive distribution costs associated with their facilities.  And that's why you can see a volume increase and a contracted demand increase in Rate 20, and yet still have the rate impacts that we've been discussing in that class.

MR. MONDROW:  Is that because those customers are only transferring part of their volumes?

MR. TETREAULT:  No.  The customer -- if the customer moves rate classes, it's a full transition to the new rate class based on the forecast.

MR. MONDROW:  All right.  Well, I'll read that and think about it.  Thanks.

In respect of the other part of the main driver here, the decrease, net decrease, in volumes as opposed to the transfer of volumes to other rate classes, that's another factor; right?

MR. TETREAULT:  Yes, it is.

MR. MONDROW:  All right.  And do you have any expectations for the future in respect of this rate class about whether those volumes are going to continue to decline, are going to come back?  Do you have any sense of that?

MR. TETREAULT:  No, I don't, Mr. Mondrow.  I'm not close to the Rate 100 forecast.

MR. MONDROW:  All right.  And -- all right.  That's fine.  Thanks.

One more area I just want to ask you, I think, one question on.  And for that, if you could go to your updated Exhibit H, tab 1, page 38.  And this is about the topic of splitting the T1 rate class into a T1 class and a T2 class.

And if I look at line 17 on page 38, starting at line 17, the evidence says:

"The proposed firm contracted demand breakpoint between mid-market Rate T1 and large market Rate T2 is derived using the scatter diagram plotting firm daily contracted demands provided at Figure 1."


Then if we go to page 39, we see a scatter diagram.

First, let me apologize if this is somewhere in the evidence and I haven't seen it, but I wonder if you could just explain briefly the rationale or the mechanism that you use to plot that dividing line with reference to the these points on the scatter diagram, because it's not immediately obvious to me why you picked that particular volume level -- contract demand level, I should say.

MR. PANKRAC:  There are basically two factors that support the one-forty-eight-seventy that we show in that table.  The first is you'll notice that around one-forty-eight-seventy you see a dramatic change in slope.  In other words, the first group is very flat, and then you can see that the second group at the right-most part of that graph, the slope is very different.

So that's one factor.  The other thing has to do with our alignment with existing services.  The one-forty-eight-seventy currently forms the boundary also for eligibility to our large bundled class, which is rate M7.

And the third factor is that generally you try and select a point where there are few customers so that there are -- you minimize the impact.  So you look at that and say, Are there places where there are a few customers that straddle that?

So that combination of factors is really used to set the one-forty-eight-seventy.

MR. MONDROW:  And Mr. Pankrac – Pankrac; is that correct?

MR. PANKRAC:  Correct.

MR. MONDROW:  I know Mr. Shepherd asked you about this, but I couldn't tell from the transcript precisely what your answer was.

Using those -- well, let me ask it this way.  Applying those three factors you just gave me, trying to find where the slope changes, aligning with other existing service, perhaps -- although that's not a diagrammatic consideration, but the third is the point with few customers.

MR. PANKRAC:  Mm-hmm.

MR. MONDROW:  Why wouldn't you set the point at, say
-- I don't know what that point would be, but maybe 300, 325?  There's a point to the right here where you get much fewer plots and you actually see the slope really dramatically change, and there are fewer customers around the line.

And so using those factors, I don't know why you would have chosen the breakpoint you did as opposed to something a little higher or a little farther to the right, probably somewhere around 43 customers, somewhere like that.

MR. PANKRAC:  Yes.  And if you turn over in the evidence to page 40 at table 15, you'll see some of the other considerations that have guided our thinking, and one of them is that we have identified in our rate class criteria is that we want to have sufficient class size.

And so at the top of table 15, you'll see that the selection of the one-forty-eight-seventy as the dividing point results in 39 customers in proposed rate T1 and 20 customers in rate T2.

So we were also guided by the fact that we wanted sufficient class size and sufficient -- in other words, that averaging is meaningful and that averaging can be applied in setting the rate classes.

MR. MONDROW:  So something less than 20 customers in proposed rate T2 would have been, in your view, a little too light for that class?

MR. PANKRAC:  That's right.

MR. MONDROW:  Right.  And so in your evidence that I read to you at the beginning, which said that you derived the breakpoint using the scatter diagram, that's not quite accurate, in a sense that there are all kinds of other considerations, which you've now talked about, other than the diagram.

So just looking at the diagram is not really the way to get that answer; right?

MR. TETREAULT:  The better word than "derived", in hindsight, was probably "plotted".  In other words, there was no calculation that went into how those customers fit into the figure.  It is simply where they fit into the figure based on their contracted demands.

MR. MONDROW:  And based on some of the other considerations, Mr. Pankrac, that you shared with me?

MR. PANKRAC:  Correct.

MR. TETREAULT:  Mr. Mondrow, it's worth noting as well that the one-forty-eight-seventy breakpoint that we've been discussing is also the current breakpoint in the two-block demand structure we have in rate T1 today.

So maintaining that where it made sense was also a consideration.

MR. MONDROW:  All right.  Thank you very much.  Thank you, Madam Chair.

MS. HARE:  Thank you.  Mr. Quinn.

MR. QUINN:  Yes, thank you.  And before I proceed, I didn't hear a hard stop at 12:30, but I want to be conscious of the Panel's desire to break.

MS. HARE:  We don't have a hard stop at 12:30, so we will stop when -- your estimate was 45 minutes?
Cross-Examination by Mr. Quinn:


MR. QUINN:  Forty-five minutes, plus or minus, yes.  Thank you.

Good morning, members of the panel.  My name is Dwayne Quinn, and I represent the Association of Rental-housing Providers of Ontario.

At the outset, I want to start with some undertaking responses that were asked for by the Board Panel and myself that were filed last Friday, and they are specifically J8.3, 8.4, and 8.5.

MR. TETREAULT:  Mr. Quinn, I apologize.  I'm having difficulty hearing you.

MR. QUINN:  Thank you for the early feedback, Mr. Tetreault. The exhibits I wanted to refer to were J8.3, 8.4 and 8.5 that were filed last Friday.

Now, I understand that you have copies of those undertakings?

MR. TETREAULT:  In a minute, yes, we can find them.  Mr. Quinn, you referenced 8.3 and 8.5?

MR. QUINN:  Four and 5.  But specifically at this point, let's just turn up 8.5.  I think that will be the most helpful response to lead us through our understanding.  And, again, thank you to Mr. Organ for having it up on the screen for others.

The part I want to review is the subsequent review, which starts on page 2 of 4.  And we had a number of questions in this regard, and we want to make sure we clearly understand Union's allocation methodology and the documentation of it.

So at the outset, I guess my first general question, and just seeking confirmation, is that the allocation proportions for the respective pools are done by adding the gross capital for the investment to the respective pool allocations that were already in place?

MR. TETREAULT:  I would assume so, Mr. Quinn, but I can't confirm that.  This is not an undertaking response that we were involved in.  As I understand it, this is related to some questions or concerns you had on non-utility versus utility cost allocation, and that's not an area that I'm that familiar with, as the cost allocation group, as you may know, always see our utility costs.

MR. QUINN:  Well, I understand that your cost allocation panel is in front of us.  We don't have the opportunity maybe to have Ms. Elliott by satellite.  So I'm going to try to ask some questions, and to the extent that I cannot receive answers, then we may need to seek clarification in other means.

At a high level, you have gross plant in both the regulated and non-regulated assets.  So, proportionally speaking, when a new asset is added, my understanding from Ms. Elliott - and it's reflected in JT1.34 and you can look that up if you so desire - that the new allocations are generated by the addition of gross capital to the respective buckets of utility and non-utility to come up with a new ratio?

MR. TETREAULT:  I don't know that I can help you, Mr. Quinn.  It's not my -- it is a finance question.  This is not an area that cost allocation or rate design are close to.

MR. QUINN:  Well, I have some very specific questions related to this undertaking.  I was starting at a high level to make sure that we had a same basis of understanding.

MR. TETREAULT:  I don't think it would be fair of me to comment on how finance performs utility and non-utility allocations.

MS. HARE:  Mr. Quinn, I think your only option is to put them, your clarification questions, in writing.

MR. QUINN:  I think I could probably do that at this time.  I thought we would benefit from the dialogue to make sure that my questions were precise enough to get the answers, but at this time --


MS. HARE:  I think Mr. Tetreault has made it clear that he's not able to answer.

MR. QUINN:  No, I respect that, and I'm just looking down my sheet to see if there is anything here that would be helpful to be able to move us forward.  But if I may pause just for a moment?

MS. HARE:  Sure.

MR. QUINN:  Okay.  I have a brief series of questions that I will revert to writing and provide to the applicant, and hopefully that's helpful to all of us.

MR. SMITH:  And we talked about this on Friday.  I mean, if the question relates to clarifying existing undertakings, we'll certainly take a look at it and try to answer the question to the best of our ability.

If it's a new line of cross-examination that could have been pursued with the finance panel, I have a different view.

MS. HARE:  I think that's fair.

MR. QUINN:  And to be clear - and I might have been the one who led us here, and I apologize - I was encouraged to see a breakdown that was provided in the undertaking by storage pools.  But what I didn't see is clarification of how investments in such things as plant J replacement of plant A, where those costs reflected.

So to the extent there are significant dollars being invested and they're not part of pools, how does that ultimately affect the O&M calculation, because it's still
-- it's $100 million of assets.  It's still non-utility assets that ultimately should enter the calculation.

But there was no mention of those projects in the undertaking, and that's the significant gap that I saw and I think that we were trying to address.

So I will provide the questions and we'll seek the responses we can get, and I'll have to move on from there.

MR. SMITH:  I'll just have to wait to see the question.

MR. QUINN:  Okay.  So considering that I may -- this falls in that category, too.  Oh, my.

Okay.  Well, I think this one here -- can you turn up J.B-8-10-4?

MR. TETREAULT:  We have it, Mr. Quinn.

MR. QUINN:  Okay.  In the reference provided, it says:

"Union proposes to adjust transmission plant by negative $9,328,000 and increase underground storage plant an equal amount."


We had asked in part (c):
"If Union does not propose to adjust non-utility storage plant, please explain why Union believes that no adjustment is required."


The answer, which you'll read below, in part (c) is:
"No allocation to non-utility storage is required as these are assets within the Dawn yard providing regulated transmission services."


I guess my first question is:  The negative 9.3 million, that's against transmission plant; is that not accurate?

MS. STEVENSON:  Yes, it's a reduction to gross plant transmission.

MR. QUINN:  But your answer says:
"No allocation to non-utility storage plant is required as these assets are in the Dawn yard and provide regulated transmission services."

MS. STEVENSON:  Plant accounting records certain transmission-related assets in underground storage if they are within the Dawn yard.  So all assets in the Dawn yard are from a plant accounting perspective.

MR. TETREAULT:  Mr. Quinn, broadly speaking, there's three types of assets in underground storage assets as plant accounting defines them.  There are assets that provide storage service only, and there would be within that category a utility/non-utility allocation.

There are assets that provide storage and transmission service.  They provide both services, and the transmission component of those assets is regulated only.  The storage component of those type of assets that can provide both services would have a utility/non-utility allocation.

The third category of underground storage assets are assets that only provide transmission service, which are the assets we're discussing in this IR response, and transmission being a regulated service, only, requires that those assets be assigned to the -- allocated to the utility.

We have no non-utility transmission service.

MR. QUINN:  But the change you're making is moving the asset functionalization from transmission to storage; correct?

MR. TETREAULT:  No, the functionalization is not changing.  Those assets are currently allocated to the transmission function.  And as underground storage assets, they will continue to be functionalized to transmission.

The clean-up here is really just that.  Plant accounting, as I understand it, wanted to make sure that all underground -- sorry, excuse me -- all assets at Dawn are categorized as underground storage assets.  So there were some inconsistencies in the plant accounting records that that group was looking to -- looking to clean up.

But the assets provide the same service that they did previously, which is a transmission service; therefore, there would be no allocation in either case to the non-utility.

MR. QUINN:  Okay.  Accepting your answer, then, these assets are providing a transmission service from Tecumseh, being the Enbridge storage pools; would that be accurate?

MR. TETREAULT:  The Tecumseh MNR assets are assets at the interconnect between Union and Enbridge's Tecumseh storage pools in the Dawn yard.

MR. QUINN:  So the recovery of the services, would these assets be allocated to transmission generally into M12 services, or how would they be allocated?

MR. TETREAULT:  They are transmission assets and they are all allocated to the transmission function.  And they are allocated based on the design day demand for transmission at Dawn, and a sizeable portion, I believe it is somewhere in the neighbourhood of three-quarters, would be allocated to the M12 rate class, as the M12 rate class represents approximately three-quarters of the design day demands at Dawn for transmission purposes.

MR. QUINN:  And you said sizeable would be to M12.  The others -- the in-franchise rate classes would pick up a portion of that, then?

MR. TETREAULT:  Correct.

MR. QUINN:  But would it not be true that these assets are actually to provide Enbridge with M13 or M16 services?

MR. TETREAULT:  No, I don't believe that's true.  These assets are -- they are specifically to provide transmission service into the Dawn-Trafalgar system.

MR. QUINN:  But it's to provide Enbridge access to the Dawn-Trafalgar system, is it not?

MR. TETREAULT:  It would be -- those assets would be there to provide any rate class, potentially, based on design day demands, access to Dawn-Trafalgar.

MR. QUINN:  But it's tied directly to Enbridge's storage field?

MR. TETREAULT:  No, I wouldn't agree that it's tied directly to the storage field.  These assets are at the interconnect, the custody transfer point between Enbridge and Union, similar to the Dawn-Vector and the Dawn-TCPL-MNR assets that we have in the Dawn yard that are also functionalized directly to transmission.

MR. QUINN:  Well, I was likening it more to a third-party storage provider interconnect to Dawn.  Would you agree with me that that would be an appropriate analogy?

MR. TETREAULT:  No.  No, I wouldn't.  The assets ultimately provide a transmission service similar to other interconnects in the Dawn yard.

MR. QUINN:  But how does Enbridge access Dawn?  What rate does Enbridge pay to access Dawn?

MR. TETREAULT:  I'm struggling, Mr. Quinn, with your question.  I mean, Enbridge obviously takes service under more than one rate class.  As you know, they take service under M12.  They also have a storage pool that they operate that would transport gas between Dawn and the pool.  That would be the M16 rate class.

MR. QUINN:  So if these assets tie in to deliver gas to and from Enbridge storage pools, why would that not be recovered from the M16 rate?

MR. TETREAULT:  These assets do not provide any transmission service to the Ojibway-St. Clair transmission function.  And Enbridge's storage pool, the Chatham D pool, is interconnected with the Ojibway-St. Clair transmission function.

These Tecumseh metering assets specifically provide transmission service to the Dawn-Trafalgar system.  Enbridge's pool is interconnected with a different transmission function, not Dawn-Trafalgar.  And Enbridge does pay to access Dawn from their storage pool as part of their M16 rate.

In other words, Enbridge is already paying for transportation between the pool and Dawn.

MR. QUINN:  But these assets would not be included in that recovery?

MR. TETREAULT:  These assets have nothing to do with providing that service.

MR. QUINN:  Okay.  I guess I'd need to go back to a schematic of the yard someday, but I'm not going to bog us down with that right now.

If I could ask you to turn up Exhibit J8.10?  And, again, this might not be a question this panel can answer, but maybe -- well, you can answer it or your counsel can answer it.

I just want to get clarification on the last point of J8.10.  It was filed -- excuse me?

MR. SMITH:  I'll get Mr. Kitchen to give some evidence.

MR. QUINN:  It was filed this morning, and Ryan is ready to bring it up on the screen, because it's just a clarifying question that I want to make sure we understand.

Thank you.  So we'd asked about -- in I guess undertaking J7.4, for a review of the revenue forecast to make sure it had been updated with what we understood was the information that was forthcoming from the panel at that time.

We didn't get that clarity, and so we asked a clarifying question on the weekend via e-mail.  And this is the response, I understand, to that e-mail; is that correct?

MR. SMITH:  Yes.

MR. QUINN:  Okay.  And so the last paragraph talks about:
"The changes to the impact of M12, M12X and C1 contracts since the forecast was completed would be an increase to S&T revenue of approximately $280,000 in 2013.  Union is not proposed to updated the 2013 S&T revenue to reflect this increase."


And I my simple question is:  If this is the best information that's available, why would it not be used to update the forecast?

MR. SMITH:  Well, I mean, the simple answer to that is this is $280,000 on $134 million number.  There are puts and takes throughout the forecast that we'd never be in this position of getting close to the end of a cost of service proceeding if we were updating every time there was new information.

MR. QUINN:  While I respect that appears it would be cumbersome, per se, the reality is we've asked a number of questions in this regard about the M12 forecast and honestly have not been satisfied with the level of forecast that's been made.

In the updates that Union provided most recently, there -- it demonstrated there was an increase in the M12 forecast for 2000 -- sorry, from the prefiled evidence of last fall to the updated evidence now, there was a $1.6 million increase in the 2011 actuals.

And I guess, in our view, that is endemic of what occurs as people contract, de-contract or re-contract in ways that the forecast should reflect the most up-to-date numbers.  So I guess our request would be to use that opportunity to narrow some of the gap between your revenue forecast and our concerns.

MS. HARE:  But are we only talking about the updating for this $280,000?

MR. QUINN:  At this point.  We would make argument for what may be left but...

MS. HARE:  The Board actually has on several occasions, including, for example, if you look at the filing guidelines for electricity cost of service, talked about updating where it's a material change, and this would not be considered a material change.

MR. QUINN:  Okay.  Well, we'll lump it in with the other things for argument.  Thank you.

I wanted to get some clarification in a couple of other areas.

Last Friday, you were discussing with Mr. Buonaguro reference H3, tab 1, schedule 1.  If you have an opportunity, Mr. Organ?

MR. TETREAULT:  We have it, Mr. Quinn.

MR. QUINN:  If we could focus in on the south delivery and storage, I just wanted to have a clarification.  And Mr. Mondrow was starting to touch on it this morning, but he didn't ask the question I thought he may.

I was confused with the answers about the M1 allocation.  There's a level of discretion that the panel discussed in terms of essentially not crediting, but debiting, the M1 service class to the tune of 1.1 million.

And I understood that's based upon the current forecast for S&T revenue; is that correct?

MR. TETREAULT:  The overall level of S&T transactional margin is reflected in the rate design in both the north and south, totalling roughly 23.9 million.

MR. QUINN:  And Mr. Mondrow asked about the under-recovery, and there were some questions asked there, but what if there is an over-recovery?  To the extent that, you know, you forecasted some, you know, $23, -4 million, if you were to overshoot your target by, let's say, 50 percent and hit close to 36 million, would the expectation be that the M1 accounts would be debited further in proportion to how they've been allocated at this point?

MR. TETREAULT:  No, they would not be, Mr. Quinn.  There's a number of -- there's a number of factors in your question.  I guess I should start with the fact that with S&T transactional margin for certain activities, short-term storage activities specifically, there is a deferral account, as you know.

With regard to the remaining S&T transactional activity or margin, there are no other deferral accounts.  But, that said, just to clarify that, the $1 million you're seeing in M1, which is roughly a dollar per customer per year, is simply a rate design tool in the setting of 2013 rates.  So I would not expect that number to change.

MR. QUINN:  So how would an over-recovery be treated vis-à-vis the M1 rate class?

MR. TETREAULT:  There would be no change specific here to the S&T margin.  This is simply the money we needed to recoup from M1 to manage the other rate design considerations in the south.  So, in other words, once these numbers are set from a rate-making standpoint, they are set.

Depending on the deferral account treatment of S&T panel, it's a possibility that we would be either over or under -- sorry, excuse me.  We would have to credit or debit ratepayers associated with short-term storage activity, depending on how the actual margin compared to the margin in rates.

MR. QUINN:  Can you summarize that for me, it pertains to the M1 service class, then?  If you had 50 percent over-recovery, how would the M1 service class be impacted by that type of recovery?

MR. TETREAULT:  It would depend on where the margin was derived from, Mr. Quinn, in terms of how we did the allocation to rate classes.

So it would be very dependent on what the margin is.

MR. QUINN:  Okay.  Well, I'll take it that it would not be further debited, and that was our greatest concern, and I'll leave it at that.

MR. TETREAULT:  These figures are constant, from a rate design perspective.

MR. QUINN:  Okay.  You were discussing with Mr. Aiken this morning the weighting factors, the 1.0, the 1.5, and 2.0.  And I don't know that we need to turn it up, but I just -- I was hearing the undertaking as was received.  As I understood it, you would take a look at what was filed and, you know, file it again.

And clearly my client has concerns about this area, but I understood that both Mr. Aiken and Mr. Shepherd are well versed in this issue, so we had not taken part.

But my question comes:  If you find out that the weightings were not filed previously, will you file the empirical analysis that was used?

MR. SMITH:  The weightings were filed.  They were part of the Navigant evidence which was filed.  So I'm confident on that, but, if I'm wrong, we'll file it.

MR. QUINN:  Okay, that's fine.  I just wanted to make sure we understand the empirical backing.  Thank you.

The last area, and I'm going to close off with this and move toward the writing portion.

You were going through load factors again.  Could you help us just with a specific definition of load factor?  I think we understand 100 percent load factor means the pipe is full at all times, and that's the way the rate is made.

But can you give us just a generic definition of load factor the way Union uses it?  I couldn't find it in the evidence.

MR. PANKRAC:  Load factor generically has, as its numerator, the used capacity, and the denominator is the available capacity.  So for example -- I'll give you an airplane example.  If I have a hundred seats on an airplane and 80 are full, the utilization is 80, the available is 100, and the load factor is 80 percent.

MR. QUINN:  I'll stick with your analogy, then, and go to the specific question.  That 80 passengers fluctuates throughout the year, some days 50, some days 99.

Is it a weighted average throughout the year of the capacity utilization?

MR. TETREAULT:  The load factors are based on annual contracted demands relative to the annual forecast volumes.

MR. QUINN:  Versus -- could you say the last phrase again?  Annual contracted demands versus?

MR. TETREAULT:  Versus annual volumes in the forecast.  That's the equivalent of Mr. Pankrac's analogy.  You look at total contracted demands and the load associated with those demands based on the -- based on the forecast.

MR. QUINN:  So where I was trying to create clarity, then, if two customers have the same annual volumes forecasted for the year, and they have the same daily contracted demand, which provides their design factor, would there be any reason to vary their rates?

MR. TETREAULT:  Yeah.  I would -- yes, I would say so, Mr. Quinn.  There could be many other factors.  Their costs, for example, could be different.  Those customers could be potentially in different rate classes.

You could have a number of factors that may impact what any two specific customers may ultimately pay.  One could be in the north operating area relative to the south operating area.  There could be numerous factors.

MR. QUINN:  Two customers in the south, same rate class, same daily contracted demand, same annual forecast.  Would you have any reasons to vary their rates?

MR. TETREAULT:  In your example, all customers within that rate class 2 in your example would pay the same rates.

MR. QUINN:  Okay.  But if one had, in the case of where Mr. Gruenbauer was talking, a T3 versus a T1 rate, if they had the same annual volumes in their forecast and the same daily contracted demand, would there be any reason to vary their rates?

MR. TETREAULT:  Specifically speaking to T3 relative to T1 and T2, T3 is a wholesale service that Union offers to Kitchener, the utility of Kitchener, whereas T1/T2 are end-use/large industrial rate class, primarily.

So to the extent the costs are different between those rate classes, those groups of customers, it would certainly make sense that the rates could be different.

For example, the rate T3 monthly transportation demand charge is substantially lower than the T1 transportation demand charge.  For that very reason, the costs are different to serve the class.

MR. QUINN:  In the case of the T3 rate class, which I'm somewhat familiar with, it's because they don't have distribution plant to recover?

MR. TETREAULT:  Correct, and that drives the transportation demand charge for Kitchener to be substantially lower than T1.

MR. QUINN:  So let me then take it up a level.  If they have the same annual volumes and forecast and the same daily contracted demand, would there be any reason to vary the requirement?

MR. TETREAULT:  There's a fundamental distinction between T1 or proposed T1/T2, and T3, and that is that we've got a specific rate class -- a number of rate classes, actually, to deal with wholesale customers.  And depending on the level of unbundling wholesale customers want to avail themselves of, they could choose one of two rate classes.

They can either be bundled under M9 or semi-bundled and manage their own storage under T3.  But that's a very different service they're talking than a customer might take under T1 or T2, where they're truly an end-use distribution customer of Union Gas.

MR. QUINN:  And those were the two comparators I was using, T1 and T3.  Putting aside the bundled service, an equivalent service for T1 and an equivalent service for T3, and with the same annual volumes and forecast and the same daily contracted demand, would there be any reason to vary their ultimate revenue requirement?

MR. TETREAULT:  My point is they're not equivalent, Mr. Quinn.  One is a wholesale customer and the other is an end-use distribution rate class.  And the costs associated with those rate classes, based on the facilities in place to serve them, could be very different.  They are very different.

As you mentioned, Kitchener doesn't pick up any distribution demand-related costs, because they're tied in directly to the transmission system, whereas T1 and T2 customers do because they are tied into the distribution system to varying degrees.

MR. QUINN:  So that with that information, T3 should expect to have a lower revenue requirement than T1?

MR. TETREAULT:  I can't agree with revenue requirement, but I can say that Kitchener has zero distribution demand-related costs, and the T1 class does not.

MR. QUINN:  Okay, thank you.  Those are my questions.

MS. HARE:  Thank you.  So we will take our lunch break now, and we'll return at, say, 20 to 2:00:  So, Mr. Thompson, you'll be up next.  Still 45 minutes?

MR. THOMPSON:  Yes.

MS. HARE:  Yes?

MR. THOMPSON:  Or less.

MS. HARE:  Okay.  So that means that I think we will have a chance to hear submissions on the confidentiality of the one document at the end of the day.  Okay, thank you.

MR. SMITH:  Thank you.

--- Luncheon recess taken at 12:28 p.m.

--- On resuming at 1:50 p.m.

MS. HARE:  So, Mr. Shepherd, we're ready to proceed.
Cross-Examination by Mr. Shepherd:

MR. SHEPHERD:  Thank you, Madam Chair.

Witnesses, you'll recall we talked on Thursday - it must seem like a long time ago to you - about the three groups of customers that are affected by your M1/M2 changes, the first group who will stay in 01 or M1, anyway, the second group that are going to move from one group to the other -- from one rate class to the other, and the third group which are going stay in 10 and M2 regardless; right?

You recall the three groups; right?

MR. TETREAULT:  Yes, we do.

MR. SHEPHERD:  Right.  So I wonder if you can just turn to your table 11 at page 27 of the updated H1, tab 1.  Do you have that?

Madam Chair, does the Board Panel have this?

MS. HARE:  Our screens weren't working, but they are now, so it's fine.

MR. SHEPHERD:  Mr. Tetreault, you have that?

MR. TETREAULT:  We have it, as well.  Thank you.

MR. SHEPHERD:  So if we look at this table, lines 1 to 5 are the first group; right?  Lines 6 to 10 are the second group, and lines 11 to 15 are the third group; right?

MR. TETREAULT:  That's correct.

MR. SHEPHERD:  Okay.  And for the first group, there is a small decrease in the annual delivery bill from 2013 to 2014 under your proposal; right?

MR. TETREAULT:  That's correct.

MR. SHEPHERD:  And can you just sort of generally describe the reason why that happens?

MR. PANKRAC:  Yes, there is no change in the monthly customer charge, and there is minimal change in the delivery commodity rates.  And so, as expected, the bill impacts are at or near zero.  There's very minimal impacts to the first group shown at lines 1 to 5.

MR. SHEPHERD:  You would normally expect that there would be some increase in the commodity -- in the volumetric charge, right, but they're actually getting decreases in the volumetric charge; right?

MR. PANKRAC:  I just want to confirm that.  Just a moment.  The rates are actually quite flat, as appears at table 10 on page 24.

MR. SHEPHERD:  I understand what you're saying, but table 11 clearly shows that their bills are going down, doesn't it?  So something must be happening to cause that; right?

MR. PANKRAC:  Yes.  Actually, the reference for that first group -- I apologize -- is at table 9.  And at table 9, you can see -- at page 23, you can see that the monthly customer charge is the same, and there has been in some of the blocks -- and, again, we discussed earlier that the blocks are actually different than the -- at the 50,000 that appear for 2013.

The result of that is that for small-volume customers, they will see the same customer charge, and for those taking service primarily in the first block, they will actually see a slight rate decrease.

MR. SHEPHERD:  I guess you'll have to help me here, because I see table 11 says everybody - everybody - in the first group gets a decrease in 2014; isn't that right?

MR. PANKRAC:  That's correct.

MR. SHEPHERD:  And so the only thing I can conclude from that is that the costs that you're moving out of M -- or, sorry, of 01 for the 5,000 to 50,000 class must be higher than for the ones that are left, right, because otherwise the rates couldn't go down, could they, unless you're changing the revenue-to-cost ratios?

MR. TETREAULT:  What we can say, Mr. Shepherd, is there's very little change overall in 2014 proposed Rate 01.  That's why we're seeing the bill impacts are quite small relative to 2013.

MR. SHEPHERD:  No, I understand that.  What I'm trying to get at is how you got to the numbers.  And I would have thought that if you were moving from 2013 to 2014, all other things being equal, these customers should not get a rate decrease, because nothing is happening in cost allocation that I know of, or rate design that I know of.  So you did something in one of those things to cause them to have a decrease, even if it's a small one.  You must have done something; right?

MR. PANKRAC:  Yes, I think what you're seeing is that the other change that we made is the change in the blocking.  And so the change in the blocking has the effect, at over 250 cubic metres, of actually -- you'll notice that compared to the current blocks, which have the next 501,000, is that once you hit over 250 cubic metres, in fact, we are charging a different price.

So it's a change in the pricing.  It's also a change in the blocking and the pricing of the blocks.

MR. SHEPHERD:  Well, actually, I think that actually can't be the answer, sir.  I'm sorry, but that would be the case if some of the customers in that group had a decrease and some had an increase, but that's not the case.  They all get a decrease.  And so it must be something that's common to all of them that you're doing.

That's what I'm trying to understand.  What is it you're doing that's common to all of them that's reducing their rates?

MR. PANKRAC:  What's common to all of them is the change in blocking.

MR. SHEPHERD:  No, that can't be right.  I'm sorry.  If you change the blocking, that will affect some customers by increasing their rates and some by decreasing their rates.  That can't have the same effect on everybody, because blocking relates to how you charge within the class.

MR. TETREAULT:  That's true, Mr. Shepherd, but to the extent that each block has changed both in terms of its blocking structure and in terms of the rates, it can have an impact on every customer in the class, and that's exactly what we're seeing per table 11.

MR. SHEPHERD:  And you're saying that if you changed the blocking within a class, that the change in the blocking can affect all customers in the same direction?

MR. TETREAULT:  Yes.  It's a perfectly reasonable result to expect that to develop in that -- in the customers between lines 1 to 5 in table 11 on page 27.

MR. SHEPHERD:  Okay.

MR. TETREAULT:  The result is exactly what we would expect it to be.

MR. SHEPHERD:  All right.  Doesn't this -- doesn't reducing the annual bill for everybody in the class mean that the total you collect for the class is lower?

MR. TETREAULT:  Yes, it does, and that's as a result of our general service proposal in aggregate, which is revenue neutral for 2014.

MR. SHEPHERD:  So the amount that you're going to collect from the up to 5,000 group, from 2013 to 2014, is going to go down?

MR. TETREAULT:  That's correct.

MR. SHEPHERD:  Thank you.  Then in the middle group, which is the ones that are moving from 01 to 10, the very smallest ones have a small increase, but then all the rest have decreases.  And this happens because you increase the monthly charge from 21 to 35, and that hits the smallest one the hardest, right, but then that means there are lower volumetric rates for everybody else?

MR. TETREAULT:  That's correct.

MR. SHEPHERD:  Okay.  And then for the top group, the biggest customers who are staying in Rate 10, for those up to 150,000 -- it looks like about 150,000 cubic metres a year, you're giving them a fairly substantial decrease, but then for the larger ones their bills will go up slightly.  And that's because of the change in the blocking, isn't it?

MR. PANKRAC:  That's because of the change in the blocking.

MR. SHEPHERD:  Okay.  What I'm going to ask you to do -- it's true, isn't it, that the customers in the middle group --


MR. TETREAULT:  Mr. Shepherd, I apologize.  I don't mean to interrupt.  I should also clarify, though, that there's a change in the monthly customer charge for the customers in the third group on lines 11 through 15 that we were talking about.  There's a change in the blocking structure, and there's also for those customers a decrease in the monthly customer charge from $70 in 2013 to $35 in '14.

MR. SHEPHERD:  But didn't you recover that change in the first two new blocks?  Isn't that your concept, that you reduced the customer charge, but then in the lowest blocks you still recovered those amounts to catch up; right?

MR. TETREAULT:  Yes, for the new rate class as a whole.  I'm just pointing out that there's two factors that are affecting that, a harmonization of blocking, as well as a change in the monthly customer charge.

MR. SHEPHERD:  And what I'm saying that is that if you recover it in the lowest blocks, then somebody with 80,000 is not going to be affected by that.  They'll get a lower customer charge -- while they'll get higher volumetric rates in their first two blocks, it will be neutral; right?

MR. TETREAULT:  On average that's true.  They may not get the offset in only the first two blocks, though.  It may be more evenly distributed throughout the blocks.

MR. SHEPHERD:  Well, that's what I was trying to get at.  I had understood that your normal rate-making practice is that if you move something out of the fixed charge, you try to move it into the smallest blocks, but you didn't do that here?

MR. PANKRAC:  Yes, the $35 a month, as we saw earlier today, where the -- is quite close to the customer-related costs, which are about $40.  So that the amount of customer-related costs recovered in the customer charge is quite large, so that the amount that needs to be moved into volumetric rates is small.

MR. SHEPHERD:  So then the effect -- if I understand what you're saying correctly, what that means is that the $70 current amount as the fixed charge is actually too high.  It recovers more of the cost than you need to recover; right?

MR. TETREAULT:  For the new proposed classes, that's
-- Rate 10, in particular, that's correct.  That's why we need to lower that monthly customer charge in total from $70 to $35.

MR. SHEPHERD:  Okay.

MR. TETREAULT:  It's important, Mr. Shepherd, to look at the new proposed Rate 10 as a whole from five to the maximum, as opposed to the subgroupings of the five to 50 group versus the above 50 group that haven't transitioned, because we are looking at class rate-making; and, therefore, the averages where that class is in total will be important to that process.

MR. SHEPHERD:  Yes, I understand you had a discussion with Mr. Aiken this morning about that, and I'm trying not to cover that ground again.

But I will ask you this.  Can you look at line 9 of that table?  So you've got a customer with a volume of about 30,000 that's going to pay you around $2,800 in 2013 and drop down to $2,400 in 2014; right?

MR. PANKRAC:  Yes, I see that.

MR. SHEPHERD:  In 2012, that customer pays about 2,100; right?

MR. PANKRAC:  I'll take that subject to check.

MR. SHEPHERD:  Well, I'm actually going to ask you to do this.  I'll ask you to give us this table 11 with an additional two volumes -- two columns for 2012 actual at the existing breakpoint.  Can you do that?

MR. SMITH:  Yes, we'll do that.

MR. MILLAR:  J12.5.
UNDERTAKING NO. J12.5:  TO PROVIDE EXHIBIT H, TAB 1, TABLES 11 AND 12, WITH AN ADDITIONAL TWO COLUMNS FOR 2012 ACTUAL AT THE EXISTING BREAKPOINT.

MR. SHEPHERD:  That will be quite useful, but can you tell me, am I correct in understanding that for most of the customers in the group that's moving, what you're proposing is quite a substantial increase from 2012 to 2013, and then a decrease from 2013 to 2014?  Is that right?

MR. PANKRAC:  Yes, that is the effect of our proposal.

MR. SHEPHERD:  Okay.  And, generally speaking, do you think it's good rate-making to have a group of customers with a substantial increase followed by a substantial decrease?

MR. PANKRAC:  It reflects the timing of the implementation.

MR. SHEPHERD:  So it's just a fact that you can't get the change done earlier enough to avoid that?

MR. PANKRAC:  Well, there's the implementation, there's the communication, and there's also a need of an approval of our proposed structures.

MR. SHEPHERD:  Certainly.  But I take it what you're saying is that if there were some way you could do it for 2013, you would prefer that, right, rather than have this up and down?

MR. TETREAULT:  I don't think, Mr. Shepherd, that's, practically speaking, possible to do, of course, given timing and implementation.

And to answer your original question, I'm comfortable with the rate-making in terms of the change we're seeing from current approved rates to '13 to '14.  The range from '12 to '13 really represents the update for the test year forecast and the resulting revenue deficiencies, and those are the rate increases we were discussing.

But I think it's entirely appropriate for there to be decreases for certain customers associated with a rate design proposal recognizing, of course, that everything we're doing in '14 in general service is revenue neutral.

MR. SHEPHERD:  Is understood.  But from the point of view of the customers, it's up, and then down?

MR. TETREAULT:  There is a degree of -- degree of volatility there, yes, but over the balance of that period, we're comfortable that that's appropriate.

MR. PANKRAC:  I think we need to put that in context, also, that when you look at this table, it's not like there's the same number of customers at all the volume levels.  So, for example, in Union north, most of the 300,000 customers would be in that lines 1 to 5.  The lion's share of our customers in that market are residential, and their impacts are minimal.  It is really only that transition group reflected at lines 6 to 10 that are impacted in terms of up in 2013, and then down in 2014.

However, net, it's still an increase.  So that middle group is a relatively small part of the entire group.

MR. SHEPHERD:  Of course it does include the schools.

MR. PANKRAC:  I'm sorry?

MR. SHEPHERD:  The schools are in there, though; right?

MR. PANKRAC:  Yes, schools would be impacted.  To the extent you tell me that they're in the 20- to 50,000 range on average, then they're impacted by that; that's correct.

MR. SHEPHERD:  And then the last question I want to ask on this table is:  Do I understand correctly that the effect of moving the -- it's about 50,000, I think we agreed, was the number -- no, sorry.  How many customers was it?  18,000.

You moved 18,000 customers into a -- from 01 to 10; right?

MR. PANKRAC:  That's right.

MR. SHEPHERD:  And the effect of that is to reduce the rates for the biggest number of the existing M2 customers, but increase the rates -- excuse me -- for the smallest customers -- for the largest customers; correct?

MR. PANKRAC:  On this table there's a very minimal number of customers that see increases in their rates in that middle block of volumes at lines 6 to 10.

MR. SHEPHERD:  All right.

MR. TETREAULT:  Mr. Shepherd, excuse me.  Mr. Shepherd, we discussed this with Mr. Aiken this morning, but it may be worthwhile to turn up Exhibit J.H-1-14-2.  And this was an IR response to CME.

And what this response does is it categorizes the impact and the number of customers that are impacted by the rate design proposals that we're discussing.

MR. SHEPHERD:  So where should I be looking?

MR. TETREAULT:  It's J.H-1-14-2.  And, I apologize, it's page 2.  And the response, it starts with response (a).  And you can see it just gives you a sense for the number of customers that are impacted as a result of our proposal.

You can see that in part one of part (a), based on the 2010 actual data, approximately 280,000 customers will see little to no impact as a result of the proposals.

And then in part two -- roman numeral (i) and (ii) this gives you a sense for the customers that are impacted.  And those are the customers that are transitioning from Rate 1 to Rate 10.

So you can see there there's approximately 6,800 accounts that would see a material bill impact as a result of that, and then further in (ii), you can see the 11,000 customers that would have a decrease.

And, finally, you have the third group that really represents the customers who are in Rate 10 in 2013 and will remain in Rate 10 in 2014, and what their impacts happen to be; generally, some decreases, as well as some increases for larger volume.

And I mention that simply from the standpoint that it's a very small number of customers that are seeing any sort of materially adverse impact as a result of the rate design in the north.  It's somewhere in the order of, I think, if my math is correct, 7,500 customers out of approximately 300,000.

And that is why I said -- I made my comment earlier where, on balance, we're comfortable that, given the rate design goals we're trying to achieve in 2014, this result is appropriate.

MR. SHEPHERD:  So the impact on the customers that you're proposing a new rule for doesn't matter?  It's only the ones that you're leaving where they are that matters?  Is that what you've just said?

MR. TETREAULT:  No, I'm not necessarily saying that.  What I'm trying to say is just based on the various transition groups -- or, sorry, the groups of customers that are transitioning relative to the overall class and the other changes in the class, that on balance -- because we are trying to balance what's happening to 300,000-odd customers -- that we're comfortable that these impacts are reasonable, given our rate design goals to improve the homogeneity and small-volume and improve the class size in the large-volume class.

There will be customers that benefit and customers that don't from any rate design proposal.  But on balance we're comfortable with what those are.

MR. SHEPHERD:  I guess -- I understand that you're comfortable, but this proceeding is not about whether you're comfortable; otherwise, you wouldn't have proposed it, unless you were comfortable.

I'm trying to get at the rationale behind it.  And I just am not sure I understand why you would move a bunch of customers and have big rate impacts one year after the other.  Wasn't there a way you could do it without doing that?

MR. TETREAULT:  No.  No, there wasn't.  We're trying to improve homogeneity in the small-volume class and trying to increase the rate class size of the large-volume class, and, in my view, the only way to do that is to take a similar approach to what we've done, which is to lower the annual volume breakpoint from 5,000 -- sorry, excuse me, from 50,000 cubic metres to 5,000 cubic metres.

That's really the mechanism to achieve those two goals.

MR. SHEPHERD:  Let's turn to table 12, if you could, please, on the next page, page 28 of Exhibit H1, tab 1.

This is the same thing as we just talked about, but for M1 and M2; right?

And the impacts are different in the shift.  Why are the impacts -- why do the impacts have a different pattern here than they did in 01 and 10?

MR. PANKRAC:  The impacts are largely due to the fact that especially if you're looking at that middle group, if you look at the bill impacts, what you see is really it is the effect of the change in the monthly customer charge for that transition group that are now in the new M2 who see their customer charge increase from $21 a month to $35 a month.

And that $14 a month difference, which would amount to $168 a year, is the principal reason that the group from 5,001 to 50,000 sees increases.  It's because you have increased the customer charge without -- at small-volumes you don't have the corresponding offset in the reduced volumetric charges, and so net you have a bill increase.

MR. SHEPHERD:  And the customer charge is a bigger percentage of the bill for the customers in the south than in the north; hence, the different pattern?

MR. PANKRAC:  Could you repeat that, please?

MR. SHEPHERD:  In the south, the customer charge is a bigger percentage of the bill for those people in the middle group than it is in the north, right, because the volumetric charges in the north are higher; true?

The easiest way to see that, sir, is take a look at tables 11 and 12, and the total bill for those in the north is significantly higher than in the south, and yet the customer charges for the two are the same; right?

MR. TETREAULT:  Yes, that's fair, Mr. Shepherd.

MR. SHEPHERD:  And so if you have a pattern where there are decreases in the north and there are increases in the south, that's because the change in the customer charge has a different effect in the south than it does in the north; right?  It's a more pronounced effect?

MR. PANKRAC:  Yes.

MR. SHEPHERD:  Okay.

MR. TETREAULT:  The other point to make in the south is there is no change to the blocking structure as a result of harmonizing the north blocking structure with the south.  South has stayed the same.  So you actually -- you don't have that factoring into things.

So, as Mr. Pankrac said, what you're seeing is the impact of our choice to set the monthly customer charge at $35.

MR. SHEPHERD:  And am I right in understanding that moving those customers from M1 to M2 and giving them some substantial rate increases, one of the effects of that is to reduce the rates for the customers that are already in M2, right, because you now have all these additional customers that are sopping up a bunch of the costs?

MR. TETREAULT:  That's the net impact.  So for customers who are in rate M2 for 2013 and will remain in M2 for 2014, that will be the impact, some of which is driven by the fact for that group of customers their monthly customer charge has moved from $70 in 2013 to $35 in 2014.

MR. SHEPHERD:  All right.  I wonder if you could include in the undertaking I've asked you for -- did we get a number for that by the way?

MR. MILLAR:  J12.5 was the last one.

MR. SHEPHERD:  I wonder if you could include in that undertaking table 12 with the same additional columns, so it's exactly the same thing?

MR. SMITH:  Yes, we'll do that.

MR. SHEPHERD:  Thank you.

Now I want to turn to a different area, and to do that I'll go back to our materials on page 23.  This is -- I'm referring to K10.5.

And during the technical conference, we asked you about something called a breakpoint analysis.  Do you know what -- and I understand you had a discussion with Mr. Aiken this morning about breakpoint analysis; right?

MR. TETREAULT:  Yes, we did.

MR. SHEPHERD:  And so a breakpoint analysis is an analysis of how smooth the transition is between one rate class and the other; true?

MR. TETREAULT:  The breakpoint analysis was to determine which breakpoint allowed for the most homogenous small-volume general service class, while improving the rate class size in the large-volume generate classes.

MR. SHEPHERD:  All right, I'm sorry.  I'd heard the term used differently, but that's fine.  I'm referring to the analysis you do to see how smooth the transition is between one rate class and another.

MR. TETREAULT:  Rate continuity.

MR. SHEPHERD:  Okay.  Rate continuity.  See, that's why you're there and I'm here.

And so I wonder if you could -- we asked you in the technical conference, which we included here, about this, and your counsel said not to answer it.  So we'll ask you here.

At page 29, you gave us an undertaking to show us the impacts at breakpoints.  Do you see that?

MR. TETREAULT:  Yes, we have it.

MR. SHEPHERD:  And you've discussed that with Mr. Aiken this morning?

MR. SHEPHERD:  I don't believe we looked at this particular response, but we touched on the concept, yes.

MR. SHEPHERD:  I only had a few minutes to talk to him, so... All right.

Then let me ask you.  In JT2.24 at page 29 of our materials, in 2013, the breakpoint at 50,000 would be lines 1 to 4, column (b); right?

MR. TETREAULT:  That's correct.

MR. SHEPHERD:  And then in 2004, when you've changed the breakpoint to 5,000, it would be lines 5 through 8, column (c); correct?

MR. TETREAULT:  That's correct.

MR. SHEPHERD:  Okay.  So tell me whether I understand this right.

In the north, the customer just under the breakpoint has a significantly higher bill, about 15 percent or so, I guess, than the customer just over the breakpoint; right?

MR. TETREAULT:  Correct.

MR. SHEPHERD:  Is that the sort of pattern you would normally expect?

MR. TETREAULT:  It's certainly not unexpected based on the rate-making that we needed to do for 2013.  And what's important to understand here is that we are dealing with customers in this attachment, in total, that are outliers, that are at either a lower or a higher extremity of a rate class.

And rate class making is all about the averages.  And what we're looking at here is not the average number -- sorry, excuse me, the average customer or the average volume associated with the average customer in a rate class.

So you will get sometimes anonymous anomalous results at breakpoints, because it doesn't represent the average for the particular class.

MR. SHEPHERD:  Well, if that's the case, then what's the purpose of rate design?  Like, I understand the average for a class; I get that.  But isn't rate design supposed to ensure that the pattern of recovery within the class is fair?  Isn't that what it's for?

MR. TETREAULT:  To the extent it can, yes.

MR. SHEPHERD:  Okay.  And one of the principles you apply is that the transition from one rate class to a contiguous rate class with similar customers should be as smooth as possible; isn't that right?

MR. TETREAULT:  Yes, the rate continuum is one consideration in designing rates.

MR. SHEPHERD:  And so in the north, in 2000 -- your proposed 2013 rates don't have that result, do they?  There's a discontinuity at the break -- between one class and another?

MR. TETREAULT:  There is, to some degree, as a result of what we needed to achieve in Rate 10.  Rate 10 is the boundary between your small-volume general service class, Rate 01, that we're discussing, but it's also the boundary between Rate 20, which is your first contract rate class.

So it falls in the middle there.  And so the continuity is often a challenge with Rate 10, because you need to balance the continuity with Rate 1, as well as the continuity with Rate 20, recognizing of course that we are talking about customers on either side of the boundary and not the average customer in either rate class.

MR. SHEPHERD:  But what you did is, in 2011 -- in 2012 are sort of similar in pattern to 2011; right?

MR. TETREAULT:  That's correct.

MR. SHEPHERD:  Okay.  So the existing rates, the movement at the breakpoint is a jump in cost, and in the new rates it's a significant drop in cost; right?

MR. TETREAULT:  That's correct.

MR. SHEPHERD:  So why is that?

MR. TETREAULT:  As I mentioned, for 2013, what we needed to do for Rate 10 is we needed to lower the revenue-to-cost ratio slightly and move money between the blocks so that we had the appropriate continuity to the Rate 20 class, as well, which is the contract class.

So that's why you see the result you see there.  It's based on the overall rate continuum in the north.

MR. SHEPHERD:  Okay.

MR. TETREAULT:  Whereas here, of course, we're just looking at the two classes.

MR. SHEPHERD:  Help me with -- now take a look at Union south for a second, because in Union south, again, in 2011 and 2013, you have a big jump, a very substantial jump - I think it's something in the order of 30 percent - between the lower volume class, in this case M1, and the higher volume class, M2.  That's quite unusual, isn't it?

MR. TETREAULT:  I wouldn't agree that it's unusual, Mr. Shepherd, for the same reason we've been discussing.  We aren't looking at the average customer in either rate class.  We're looking at customers on the extremities or at the boundary of the rate class.

So it's difficult to -- perhaps difficult to explain, but you will get results that are less than optimal at the boundary point.

What's important to realize, though, is that customers at the boundary point are a very small percentage of the rate class.

MR. SHEPHERD:  Well, but when you were talking about the change from Rate 10 to Rate 20 and the continuity there, one of the things you're trying to avoid is exactly this, right, where Rate 10 would be cheaper than Rate 20 at the boundary?

MR. TETREAULT:  But this would not be the boundary between Rate 10 and Rate 20.

MR. SHEPHERD:  When you were doing your rate design, you had a concern at the boundary between Rate 10 and Rate 20 there would be a jump in cost; right?  And you had to avoid that by adjusting your design of Rate 10?

MR. TETREAULT:  With Rate 10, you have to manage two continuity concerns, yes, the continuity to Rate 1, as well as the continuity to Rate 20.

The same is true in the south with M2, where you're trying to manage continuity to M1 and the continuity to the rate M4 class, which is the first contract rate class.

MR. SHEPHERD:  All right, I'm sorry.  I'm asking a very specific question.

In going from Rate 10 to Rate 20, had you not made changes to Rate 10, you would have had a jump in costs from Rate 10 to Rate 20, and you didn't want that, so you adjusted Rate 10 accordingly; right?

MR. TETREAULT:  We wanted to manage the rate continuum between Rate 10 and 20.

MR. SHEPHERD:  Okay.  I'm sorry, it's a very specific question.  There was going to be a jump in costs from Rate 10 to Rate 20.  You didn't like that, so you changed Rate 10; isn't that right?  It's a yes-or-no question.

MR. TETREAULT:  Yes.

MR. SHEPHERD:  Thank you.  That didn't happen in the south, though; right?  You didn't face a continuity problem between M2 and M4 in your rate design?

MR. TETREAULT:  That's fair.

MR. TETREAULT:  Excuse me, Mr. Shepherd, I should clarify.  Continuity is still a consideration.  The considerations around continuity in the south may have been different than what they were in the north.

MR. SHEPHERD:  Well, that's right, and that's why the relationship between M1 and M2 at the breakpoint is roughly the same in 2011 and 2013.  You didn't have a problem to deal with; right?

MR. TETREAULT:  That's correct.

MR. SHEPHERD:  Okay.  Now, you already discussed with Mr. Aiken, I understand, the possibility of having a $30 or a $25 charge in M2; right?

MR. TETREAULT:  Yes.  I believe by way of either IR or undertaking or both, even, we have had -- we did have some discussion, yes.

MR. SHEPHERD:  But I understood from him that he questioned you on that this morning?

MR. TETREAULT:  That's fair.

MR. SHEPHERD:  Then I'll leave those questions and I'll move to my last question, which is -- my last area -- I wish it were my last question -- which is:  You are proposing that the rate redesign take place on January 1st, 2014.

And I understand that the reason why you were proposing that is that it's simply not practical to implement it by January 1st, 2013; right?

MR. TETREAULT:  Correct.

MR. SHEPHERD:  Is there another reason or is that the only reason?

MR. TETREAULT:  That's the only reason.  We need -- should the Board approve our proposal, we need the time to update administrative systems, billing systems, to actually implement for January of 2014.

MR. SHEPHERD:  And so I take it from that that you agree that based on your more recent information, the 50,000 breakpoint is no longer appropriate; right?

MR. TETREAULT:  That's correct.

MR. SHEPHERD:  Okay.  And you'll agree, I think, that it produces some strange results that are unfair to some customers?  That is one of the reasons why you want to change it?

MR. TETREAULT:  That's fair.

MR. SHEPHERD:  Okay.  And I think you'll agree that if you can avoid it, you would rather not have customers subjected to a big increase followed by a big decrease.  Is that true, generally speaking?

MR. TETREAULT:  Yes, if it were practical to do so.

MR. SHEPHERD:  Okay.  Then I think those are my questions.  Thank you, Madam Chair.

MS. HARE:  Thank you.  Mr. Thompson?

MR. SHEPHERD:  And, Madam Chair, if the Board will excuse me, I do have to run back to another room, if that's okay.

MS. HARE:  Thank you.
Cross-Examination by Mr. Thompson:


MR. THOMPSON:  Thank you, Madam Chair.  Panel, I have a few questions in the cost allocation area, and perhaps we could start with by turning up J.G-1-14-1.

This was an interrogatory response to questions that we asked about cost allocation changes that had occurred since the last case.  There aren't many of them and I believe Mr. Aiken has discussed some of those with you.

But in terms of the changes that were made up to the 2007 case, you have provided attachment 2, which I understand it documents the various cost allocation changes that were made, really, following the merger of Centra and Union; is that fair?

MS. STEVENSON:  Yes, that's correct.

MR. THOMPSON:  There's a series of them that were effective on January 1, 1999 on the first page of attachment 2, and then there's another set that were effective January 1, 2004, and then a further set that were effective January 1, 2007; is that right?

MS. STEVENSON:  Yes, that's correct.

MR. THOMPSON:  And the new changes that you are making in this case are not -- well, let me ask it this way.

Are all of those methodologies still operative, the ones that are reflected in attachment 2 of this interrogatory response, generally speaking?

MS. STEVENSON:  I'm sorry, were you asking if attachment 2 is still active or the current proposals or?  You're asking whether these are still our current methodologies?

MR. THOMPSON:  I'm asking whether they're still being applied.

MS. STEVENSON:  Yes, I believe --


MR. THOMPSON:  Generally speaking.

MS. STEVENSON:  -- they are the current methodologies, yes.

MR. THOMPSON:  All right.  Now, in terms of the divergence between revenues and costs during the five-year incentive regulation plan period, you've discussed that with others, and, generally speaking, my understanding is that it's not changes to the cost allocation items that you're proposing in this case that are materially contributing to that problem.  It's other factors.  Have I understood that correctly?

MR. TETREAULT:  Yes, that's fair, Mr. Thompson.

MR. THOMPSON:  And just to understand that a little more fully, one of the factors that could cause costs to the utility increasing in this IRM period are approaches being taken to allocate costs as between the regulated and unregulated storage.  You would agree that that is a factor that could cause costs to the utility to increase?

MR. TETREAULT:  Yes, it could that -- the allocation of the costs between unregulated and the regulated business could cause utility costs to increase.  It could also cause utility costs to decrease.

MR. THOMPSON:  Okay.  And this is not your area, as I understand.  This is somebody else's area?

MR. TETREAULT:  It's better for the finance panel, yes.

MR. THOMPSON:  And Mr. Quinn has been trying to get to the bottom of that, and hopefully we will.

Another area where costs might increase is in the step in the process where you allocate costs between the in-franchise and ex-franchise sectors of your utility operation.

And have there been any material changes in the approaches taken to that step of the allocation process?

MS. STEVENSON:  I wouldn't say there's a material change.  We've described in that IR response that the Oils Springs East and Tecumseh metering would have a shift between in-franchise and ex-franchise, but it's not a material difference.

MR. THOMPSON:  Yes, that's in subparagraph (a); is it not?

MS. STEVENSON:  That's correct.

MR. THOMPSON:  There is an attachment that gives the details of this, but it's not a big ticket item.  It's pretty small potatoes, as I recall it?

MR. TETREAULT:  That's correct.

MR. THOMPSON:  Okay.  And am I correct that once the costs between regulated and unregulated storage have been dealt with, that you then move to the allocation as between in-franchise and ex-franchise?  Is that step 2?  And, if it is, is step 2 followed by the step 3, which is allocating in-franchise costs between north and south?

Have I got the steps right, or does the north and south come before in-franchise/ex-franchise?

MR. TETREAULT:  I think in the totality, Mr. Thompson, you have the steps right.  I'll describe them a little bit differently, perhaps.

MR. THOMPSON:  Okay.

MR. TETREAULT:  We see the utility cost of service only.  In other words, we don't see non-utility costs, because we're only interested in utility costs for the purposes of utility rate-making.  And where I would describe it slightly differently than you did is in the concept of allocating in-franchise, and then ex-franchise, and then between north and south.

MR. THOMPSON:  Right.

MR. TETREAULT:  Those steps are really one step, where we allocate costs across utility rate classes, both in-franchise and ex-franchise, based on the Board-approved cost allocation methodologies, with the exception of the handful of proposals that we've brought forward in this case.

So it's one step as opposed to a two-step approach.

MR. THOMPSON:  Sorry.  And the -- I take your point.  And then the ex-franchise, in effect, ends up in the south; is that right, the ex-franchise costs and revenues?

MR. TETREAULT:  Ex-franchise costs would be allocated to the four ex-franchise rate classes.

MR. THOMPSON:  And are they classified as south?

MR. TETREAULT:  That's fair.  Distinct from Union south in-franchise.

MR. THOMPSON:  Yeah.  Okay.  Southern operations area, ex and in?

MR. TETREAULT:  Fair.

MR. THOMPSON:  Okay, fine.  Right.  And then the next exercise is, within the in-franchise rate classes, you can have some cost shifts; right?  And I'm thinking in the north where you have some proposals, and Mr. Wolnik went through this with you.  The costs in I think it was 10 are going down, and in the large volume are going up.  That's what I call a cost shift.

MR. TETREAULT:  Yes, absolutely.  As a result of preparing a cost allocation study, you would expect costs to shift to some degree.

MR. THOMPSON:  And it would appear that the magnitude of the cost shifts are more significant in the north than they are in the south?  This goes to the point that Mr. Wolnik was discussing.

MR. TETREAULT:  Yes, that's correct.

MR. THOMPSON:  All right.  And so that am I correct that even if there wasn't any revenue deficiency, or even if there was a sufficiency, some customers would be facing material rate increases because of, in the north, some cost shifts and because of these declines in revenues in the north that you've discussed?

MR. TETREAULT:  Yes, that's possible.  If you had a revenue deficiency of zero, obviously the rate increase on average would be zero.  But it would be different for individual rate classes.

MR. THOMPSON:  Now, is there anywhere in the record that we see those impacts in a zero efficiency/sufficiency scenario?  You've given some order of magnitude to others where you've described mitigation amounts as reducing the impact from, I think it was, 25 percent down to 18 or something.

You talked -- there was an interrogatory response that you referred to about --


MR. TETREAULT:  I can recall at the technical conference Mr. Smith asking me to confirm that very question for you on average.  In other words, if the deficiency was zero, on average, what would be the rate increase?  And my response was zero.

I can't recall anything else on the record other than that technical conference discussion.

MR. THOMPSON:  But are you able to give us a range of what the worst impacts would be for customers in the north, for example, in that type of scenario?  Whereas you're talking 30 and 40 percent for some customers with a 50-odd-million deficiency, what would that percentage be with a zero deficiency?

Is there any way we can get a handle on that without you having to do further work?

MR. TETREAULT:  I think mechanically it could be done.  It would be, I would suggest, a sizeable undertaking to do so and I'm not sure what -- I'm not sure of the value of that necessarily, personally.

MR. THOMPSON:  Okay.  Well, I'm not asking to do it by way of undertaking, but is there some order of magnitude that you can give us now, some ballpark number?

MR. TETREAULT:  No, I don't think I could.

MR. THOMPSON:  All right.  Now, in the south, the outcome, as I understand, is not the same as it is in the north, because the south, I think you said, has been more or less flat, do I understand that correctly, in terms of revenue increases and any cost increases?

MR. TETREAULT:  The revenue deficiency in Union south is less in absolute terms than Union north.  I apologize.  That's a yes, Mr. Thompson.

MR. THOMPSON:  All right, thanks.  Now, just on a point of perhaps policy, and looking back here, do you have a view on whether anything should be done during an incentive regulation mechanism term to adjust rates to prevent these divergent outcomes between costs and revenues from materializing?  Do you have a view on that?

MR. TETREAULT:  No, I don't.  I'm not sure I understand the relevance of the five-year IR term to the utility test year forecast.

MR. THOMPSON:  Well, this divergence has taken place between rate setting in 2008 based on 2007 base year.  Then we've had percentage increases to rates over five years.  No check to see how they're tracking with respect to costs.

Now we get five years down the road and we find that in the north there are some problems.  I'm just wondering if there's something that we should be thinking about to try to prevent that problem from materializing again.

MR. TETREAULT:  I don't know that I have a different answer for you, Mr. Thompson.  I don't have a -- I can't say I have a particular view on whether that is reasonable or practical.

MR. THOMPSON:  Okay.  Let me move on.

Now, there's been a lot of discussion and some people have used the word "slush fund", which has an attractive feature to me.

[Laughter]

What I'm taking from the discussion that you've had with others about this business of using what you call "transactional services revenues" to mitigate the situation as being a step in the process where you, for whatever reason, decide you're not going to allocate revenues from particular services to the particular customer class; you're going to keep some back as a, quotes, mitigation fund.

Is that a conscious rate design or cost allocation step that the company takes?

MR. TETREAULT:  We don't keep credit -- transactional margin back.  We do stream the full amount of forecast S&T transactional margin into rates, but you are correct that it is a rate design tool that we use to manage rate impacts, manage rate continuity, manage revenue-to-cost ratios, as we need to in the rate design process.

And, Mr. Thompson, on the rate mitigation front, that's exactly why we've streamed more than 50 percent of the S&T transactional margin to the north, as a way of, to the best of our ability, managing the rate increases we were seeing in the northern operating area.

MR. THOMPSON:  All right.  Well, let's then come to that exercise, because I wasn't clear whether there was a cost allocation holdback of rate revenue or rate design.  If you say it's rate design, that's fine.

And this takes me to Exhibit H3, tab 10, schedule 1, which is -- you can see it at page 7 of Mr. -- of the LPMA brief, K12.1.


You've had discussions about this with others?

MR. TETREAULT:  Yes, we did.

MR. THOMPSON:  And at page 9, there's another presentation, "Summary Revenue From Storage and Transportation of Gas", J.C-4-5-2, attachment 1, and I believe you've given an undertaking to Ms. Girvan to reconcile numbers between these two schedules.

I know you said the one at page 9 is the old filing and not an update.  But am I right there is a reconciliation coming?

MR. TETREAULT:  Yes, there is a reconciliation coming.  We gave an undertaking to do exactly that.

MR. THOMPSON:  But the thing that I guess I'm curious about is, in this H3, tab 10, schedule 1, you call that summary of S&T transactional margin included in 2013 in-franchise rates.  And as I run down this list of services, to my mind very few of them are transactional services.

For example, M12, long-term transportation, that's a service that you forecast based on your M12 customers?

MR. TETREAULT:  Correct.  This schedule is really a summary of the overall S&T revenue, proposed revenue, and the allocated costs to the various rate classes.

MR. THOMPSON:  Right.  So is it improperly labelled "transactional margin"?  Let me give you my impression of what you're doing here.

So take line 1, for example.  That's short-term peak storage services.  That's the utility -- well, it culminates down into line 4, really.

That's the optimization of utility storage, excess utility storage; right?

MR. TETREAULT:  That's correct.

MR. THOMPSON:  And that might be classified as transactional.

Then you get to M12, F24-T, M12-X fuel.  These aren't transactional services.  These are services that Union provides, and you forecast each of them.  And each of these, I believe, are presented in the revenue requirement build-up?

MR. TETREAULT:  That's correct, Mr. Thompson.  And you're correct, as well, that transactional -- the word "transactional" may not necessarily be required on this schedule.  That said, it does represent the total S&T margin or total revenue above cost that's been streamed back into in-franchise rates.

MR. THOMPSON:  Okay.  Well, just bear with me while I get through the other items.  C1, long-term transportation, again, that's a service that's forecast.  It's not transactional?

MR. TETREAULT:  Correct.

MR. THOMPSON:  Fuel, the same thing?  That's a forecast item?

MR. TETREAULT:  They are all forecast items, Mr. --

MR. THOMPSON:  Presented in the revenue requirement.  And then C1 short-term transportation, line 14 has two things in it, I think C1 short-term transportation, which is a service that's not transactional in nature.  Am I right?

MR. TETREAULT:  Yes, that's fair.

MR. THOMPSON:  And then the exchanges, though, as it's used here, relates to, we know from prior exhibits, what are called base exchange; in other words, does not include any FT RAM-type transactions?

MR. TETREAULT:  There is no FT RAM-related revenue in the S&T forecast in 2013.

MR. THOMPSON:  Well, then I'm right.  The exchange as referenced here has no FT RAM optimization transactions in it.  It's what were called in a previous exhibit, which I don't have in Toronto of me, "base exchanges"; fair ball?

MR. TETREAULT:  That's fair.

MR. THOMPSON:  And then what's the "other" transaction; do you know?

MR. TETREAULT:  I actually don't recall, Mr. Thompson.  I would need to check.  It's escaping me at the moment.

MR. THOMPSON:  All right.  Well, I'm sure it's in the record somewhere.

MR. SMITH:  LBAs and OBAs.

MS. HARE:  I beg your pardon?

MR. SMITH:  LBAs and OBAs.  I believe it's referenced elsewhere in one of the many other interrogatories.

MR. THOMPSON:  Okay.  Thank you very much.  And then we have Heritage pool, M16 transmission charge.  That is, I believe, interruptible transmission that's currently forecast for Heritage pool?

MR. TETREAULT:  Yes, that's correct.  That is the charge to the non-utility for its use of utility transmission assets on an interruptible basis.

MR. THOMPSON:  Right.  So that could be presented as revenue?  Is there some reason it's not in the revenue column?

MR. TETREAULT:  It could be, Mr. Thompson.  We just treat it as margin, as it will ultimately be margin that is streamed back into in-franchise rates and reduce the revenue deficiency.

MR. THOMPSON:  All right.  So you do all these overs and unders of these various -- with respect to costs, which is in column (b), and then you come up with this margin, twenty-four-four-seventy-seven and deduct the shareholder portion of 574, which comes from what?  Just refresh my memory.  Is that from short-term storage?

MR. TETREAULT:  That's correct.  That's the 10 percent shareholder incentive associated with short-term storage margin.

MR. THOMPSON:  You end up with roughly $24 million; right?

MR. TETREAULT:  Correct.

MR. THOMPSON:  And this is unallocated revenue in your approach?

MR. TETREAULT:  Yes, that's fair.  Said differently, this is prior to including this margin in in-franchise rates.

MR. THOMPSON:  But if you presented these revenues in the revenue requirement form of the exercise and proceeded to allocate the revenues, as well as the costs, some of this stuff would show up in the rate classes, either ex-franchise, in-franchise, or both?

MR. TETREAULT:  You do have revenue requirement on this schedule, Mr. Thompson.

MR. THOMPSON:  Right.

MR. TETREAULT:  The revenue requirement associated with these services and this revenue is in column (b).  That allocated cost is the result of the preparation of the 2013 cost study.

MR. THOMPSON:  And so you're saying that in 2013, this unallocated -- what I call unallocated revenue for rate design purposes is about $24 million.  What was it in 2007?  Is there an equivalent exhibit for 2007?

MR. TETREAULT:  I don't have it with me but, yes, there would have been an equivalent schedule filed there.

MR. THOMPSON:  Could I ask you to undertake to file it, and can you -- just stopping there, could you do that?

MR. SMITH:  Yes, we'll do that.

MR. MILLAR:  J12.6.
UNDERTAKING NO. J12.6:  to FILE an EQUIVALENT EXHIBIT FOR 2007 AS H3, TAB 10, SCHEDULE 1.

MR. THOMPSON:  And can you recall whether the unallocated revenue was larger in '07 than it is here, or do you know?

MR. TETREAULT:  If I recall correctly, it was higher, largely as a result of the long-term storage premium that existed prior to the Board's NGEIR decision.

MR. THOMPSON:  Okay.  And will that show up in the document that will be filed; in other words, the portion related to that premium?

MR. TETREAULT:  I expect it will, yes.

MR. THOMPSON:  Okay.  And so that's money that you use to mitigate, as I understand it.  And I'll come back to that in just one moment.

But the other aspect of all of this that I wanted to understand, and this goes to, again, a page, I think, in Mr. Aiken's K12.1.  Yes, it's at page 5, where, again, in the rate design process, you are making adjustments to the deficiency.  This is what I -- the phase II revenue deficiency adjustments.

MR. TETREAULT:  I wouldn't describe them as "rate design adjustments".  They are prior to rate design phase II adjustments to update the revenue deficiency as required.

It's not the rate design process that updates this.  It's changes in phase II costs or revenues that do that.

MR. THOMPSON:  All right.  Well, you explain these in the prefiled text, but am I correct that each one of them could have been presented as a revenue requirement adjustment?

MR. TETREAULT:  No, you're not, Mr. Thompson.  Of the -- there are five items that are an update in the phase II revenue deficiency from phase I.  I would suggest it's a combination of revenue updates and cost updates, specifically recognizing line 9, which is the C1 St. Clair to Dawn revenue adjustment of $2 million.  That's the major driver between the phase I filing that went with the settlement and the phase II update.

MR. THOMPSON:  Yeah, I appreciate that.  Heritage is in there, as well.  But why doesn't St. Clair revenue show up?  Using Mr. Aiken's page 9, why doesn't it show up in line 4?  Why is it surfacing as not something that's reducing revenue requirement, but something that's being massaged into -- something having the same effect in rates?

Is that just preference?  You didn't want to go back and do the cost allocation all over again?

MR. TETREAULT:  There is no cost allocation, Mr. Thompson.  This is a revenue update that Union agreed to make as part of a settlement agreement.  And we captured that in the phase II filing from July 13th.

MR. THOMPSON:  I thought cost allocation involved allocating revenues and costs?

MR. THOMPSON:  Cost allocation involves allocating utility costs to rate classes.

MR. THOMPSON:  But then when you determine revenue-to-cost ratios, you have to allocate revenues?

MR. TETREAULT:  We receive forecasted revenues by rate class.  We compare those revenues to the allocated costs by rate class.  That will drive a revenue deficiency or sufficiency by rate class, and we design rates from that point.

MR. THOMPSON:  Okay.  So this -- I'm still puzzled.  But suppose that St. Clair to Dawn revenue amount the Board considers other factors and the Board feels that should be 10 million, not 2 million?  Does that then push it into the revenue requirement presentation, or does it still stay as some sort of phase II deficiency adjustment?

MR. TETREAULT:  It would have no impact on cost.  We would have another, in your scenario, $8 million of revenue.  And that incremental $8 million would reduce the deficiency by $8 million, or if I could say it differently, we would have another 8 million of S&T margin to stream back into in-franchise rates.

MR. THOMPSON:  I think you're doing this because, whatever these numbers are, you're going treat them as additions to the slush fund for rate design purposes?

MR. TETREAULT:  No, we're managing this as a phase II update because of timing, Mr. Thompson.  The settlement was filed, and in that settlement it was agreed to increase St. Clair to Dawn revenue by 2 million.  That was not captured in the phase I deficiency as part of the settlement filing.

We obviously agreed to do it, so we needed to capture it ultimately in phase II with the settlement when we filed updated costs and updated rates.

If that amount had been in the phase I revenue deficiency, there would have been absolutely no change
to -- relative to what we actually did.

MR. THOMPSON:  Okay.  So you're indifferent as to where it appears?

MR. TETREAULT:  Exactly.

MR. THOMPSON:  So you won't mind if I put it back into phase I for my purposes?

MR. TETREAULT:  Was that a question?

MR. THOMPSON:  Well, sort of.

MR. TETREAULT:  It won't impact the revenue deficiency.  It would not impact rate design.

MR. THOMPSON:  Okay.  I did ask a question, and I'll probably come to this at the end of my examination.  I asked four questions -- well, before I get to that, is this number just given to you, the St. Clair revenue item?  Do you have any idea whether it should be two or five or three or 10 or whatever?

MR. TETREAULT:  It was provided to me as part of the settlement agreement.

MR. THOMPSON:  All right.  Then I won't take you where I was planning to take you.

Yeah, there's just a couple of other items here that I wanted to mention.  There is, I think, an undertaking.  Whether it's outstanding or not I don't know, but there was an undertaking given with respect to revenues from the Heritage pool assuming firm transportation revenues from the Sarnia Airport project, assuming firm transportation and revenues I think from Tipperary assuming firm transportation.

And when those numbers come in, again, is it a matter of indifference to you whether they go into the revenue requirement calculation or whether they were part of phase II revenue deficiency?  You will treat them as increments to the slush fund?

MR. TETREAULT:  I think the difference to me there, Mr. Thompson, is those aren't revenues that have been forecasted.  I understand there is an undertaking response to understand what that firm revenue would be, but that revenue has not been forecasted.

So I would not expect whatever response you receive in the undertaking to have any impact on a revenue deficiency.  It's theoretical.

MR. THOMPSON:  Well, put it this way.  If the Board chooses to impute revenues for items like this, what is the rate design impact of such revenue imputations?

MR. TETREAULT:  If there were additional revenue imputed to reduce the deficiency further, we would treat it similarly to St. Clair to Dawn revenue.  It would increase the amount of S&T margin we have to credit back to in-franchise ratepayers, and we would design rates around a larger number.

MR. THOMPSON:  All right.  So increase the slush fund would be the way you would respond to that.

Okay.  Now, in terms of rate design, I just have a few questions.

First of all, if you could look at J.H-1-14-1, and here we asked two questions.  One was:

"Are any of the Rate Design changes Union is proposing being made in response to specific requests for such changes from ratepayers?

And the answer is "No".  Fair?

MR. TETREAULT:  Fair.

MR. THOMPSON:  And the second question was:

"Are any of the Rate Design changes Union is proposing contingent on a finding that there is a revenue deficiency rather than a revenue sufficiency for the 2013 Test Year?"


And the answer also is "No".

MR. TETREAULT:  That's correct.

MR. THOMPSON:  Okay.  So customers aren't driving this.  Now, just one diversion here.

In your evidence-in-chief, as well as in the presentation that was made to customers, which I think you'll find in K2.3 at page 42, you're proposing to eliminate contract rate unbundled service offerings, and you refer to rates U5, U7 and U9 in the how the south, and Rate 20 and Rate 100 unbundled services in the north.

And my understanding is you're doing this because nobody has taken up these services and they've been able to for some ten years or so?

MR. TETREAULT:  That's correct.  Not only has no customer taken up those services since they were implemented, but there's nobody in the 2013/14 forecast to use those rate classes or those services.

MR. THOMPSON:  Could you just explain the difference between the unbundled service in the north that you're proposing to eliminate, and what I understand is called the semi-unbundled service up there that's in fairly widespread use?  What's the difference?

MR. TETREAULT:  It's been a number of years, Mr. Thompson, since I've been close to the unbundled service.  As I understand it, though, or as I recall it, with an unbundled service offering, the customers are much more involved in managing their storage.  And I believe they have to also manage their consumption on a daily basis to balance.

So they take full control over the suite of services, is perhaps the best way to describe it.

MR. THOMPSON:  Okay.  So to the -- you're not proposing any changes, though, to the semi-unbundled service that's available and being used in the north and in the south.

MR. TETREAULT:  That's correct.

MR. THOMPSON:  Okay.  Now, in terms of that service in the north, I understand that an important adjunct to it is contract balancing service, CBS.  Do you know anything about that?

MR. TETREAULT:  Yes, there is a CBS service that is available to transportation service customers in the north.

MR. THOMPSON:  And what is its current availability?  Do you know how that's defined?

MR. TETREAULT:  I couldn't tell you.

MR. THOMPSON:  Is there any plan to change the provisions of the availability of that service in the north?

MR. TETREAULT:  Not to my knowledge.

MR. THOMPSON:  And do you know if lower load factor customers need or are entitled to more, compared to high load factor customers, or is that something outside your domain?

MR. TETREAULT:  That is outside of our area.

MR. THOMPSON:  Okay.  All right.  So no plan to change that --


MR. TETREAULT:  That's correct.

MR. THOMPSON:  -- that you're aware?

Let me move on, then, to rate design changes and impacts.  And you've had a lot of discussion with others about this, and I do not propose to retread that ground, other than to say that you're not likely to get a prize for smoothness for this proposal; would you agree?

MR. TETREAULT:  I think it would depend on how you define smoothness.


MR. THOMPSON:  All right.  Now, just in terms of the extent to which you're disrupting tradition, the existing 01/10 split at 50,000 m3 dates back, as I understand your evidence, to May 20, 1988?

MR. PANKRAC:  Yes.  In the northern operations area; that's correct.

MR. THOMPSON:  And so with respect to your proposal to change that, you're modifying 24 years of tradition in the north?

MR. PANKRAC:  Yes.  What we're saying is that we're refreshing and looking at what is appropriate for a small general service rate design in the north.  As you pointed out, it's been more than 20 years since that level was set.

MR. THOMPSON:  Yeah.  Well, each of us may draw different conclusions from that, but let me move on.

You've discussed with others, and you've identified in this exhibit that you've referenced, a CME interrogatory that's in the brief I just mentioned, K2.3, at pages 53 to 57, the number of customers who will be materially affected by this 01/10 split.

And you pointed out on a number of occasions it's not an overwhelming number, in your view?

MR. TETREAULT:  That's correct.

MR. THOMPSON:  But have you done anything to contact these customers on a customer-specific basis and notify them of these changes?  You seem to be waiting on the Board to do something, and then you're going to take it to the customers.  Is that the game plan?

MR. TETREAULT:  That's generally fair.  There have been some meetings with customers, particularly some of the larger industrial customers in T1, but, generally speaking, we would seek or receive Board approval before we would move forward with a communication.  And, practically speaking, with 1.3, 1.4 million customers, I think that's the only way to do that, outside of the regulatory proceeding, of course.

MR. THOMPSON:  No, I accept that point.  I agree with that point, but for the 7,500 that are going to get whacked, you might think it to be prudent to contact them.  That wouldn't be an overwhelming burden, would it?

MR. TETREAULT:  I don't know what would be involved in that, Mr. Thompson.  In my view, part of what we're trying to do here is, through a transparent process, trying to inform the public and others of what our rate proposals are.

MR. THOMPSON:  Now, in the south, the M1/M2 revision of the split, I understand that what you're dealing with there is a change to what was five years of history; in other words --


MR. TETREAULT:  That's correct.  That's correct.

MR. THOMPSON:  And what was it before the existing split came?  What was it changed from?

MR. TETREAULT:  We had what we referred to as the old -- or the former M1/M2 rate class, which was the sole general service rate class available in the southern operations area.

MR. THOMPSON:  So there was no split?

MR. TETREAULT:  Prior to 2007, that's correct.

MR. THOMPSON:  And here again, you say the number to be affected is not terribly large, but, as I understand it, you've done nothing to contact those who will be materially affected?  You are, again, waiting on the Board, and you'll take it from there?

MR. TETREAULT:  That's correct.

MR. THOMPSON:  Thanks.  Now, in terms of the T1/T2 proposal, when did T1 service first go into effect?

MR. PANKRAC:  Approximately 1989.

MR. THOMPSON:  And from that point forward, at least 'til now, it's been a single class, if you will, of service?

MR. TETREAULT:  Up until this proposal, yes, it has been a single class of service.

MR. THOMPSON:  And am I not correct that over the years efforts have been made to subdivide this class, and Union resisted those efforts and the Board agreed it shouldn't be subdivided?

Have I got that history straight, more or less?

MR. PANKRAC:  Not quite.  Where I would differ with you is the Board, for example, in earlier decisions recognized that the original rate T1 was a single demand charge and a single commodity charge.  And in later decisions, the Board recognized, because of the diversity of the class and the diversity of the customer grouping and a number of cost factors, that it was more appropriate to set up a two-demand charge than a two-commodity charge structure.

So, in my view, we were already moving down that path. However, in the NGEIR decision, we also gave recognition that when you look at the customer-related costs and when you look at the transmission distribution cost, that there is still a level of cross-subsidy that this rate design proposal seeks to address.

MR. THOMPSON:  Okay.  Well, that's fair.  But am I not right Union resisted the changes to subdivide this class in prior cases?

MR. PANKRAC:  No, I would not agree with that.  The scope of the NGEIR decision, in which Union advanced a separate proposal, really looked at the electricity interface, and the main focus of that was power producers.  And in the settlement agreement, we agreed that the billing contract demand mechanism for large-volume customers, for large contract demand customers in excess of 1.2 cubic metres per day, would be the mechanism that managed the requirements of NGEIR.

MR. THOMPSON:  All right.  Well, I won't quibble with you on this.  If you would turn to page 59 of K2.3, this is again part of that exhibit that you referenced earlier, J.H-1-14-2.  It's attachment 3.

MR. PANKRAC:  Yes, we have it.

MR. THOMPSON:  And as I understand it, this hasn't been updated, but I assume, were it to be updated, the numbers would be more or less the same, would they?

MR. TETREAULT:  The impacts, yes, broadly speaking, are similar.

MR. THOMPSON:  And what this is showing is, at least as I read it, for 41 of the 59 T1 customers, the impact is going to be 10 percent or greater?

MR. PANKRAC:  Yes, that appears to be approximately correct.

MR. THOMPSON:  But here again, am I correct the company has done nothing to present these specific impacts to the specific customers involved?  You've had meetings, but these levels of impacts have not been brought specifically to the attention of the affected customers.  Is that your understanding?

MR. PANKRAC:  No, that's not my understanding.  In this market, we have sales reps that manage each of these accounts.  And while I cannot speak for all of the customers, certainly there has been a broad-based communication that appeared in the June customer meeting, which was largely T1 customers.

And in addition to that, we do have our evidence in public that shows for small and large customers; and in this case, also, and in our updates, we identify for both rate T1 and T2 the range of customer impacts we expect.

MR. THOMPSON:  Well, let's just turn to, Mr. Pankrac, the presentation that I understand was made to customers, and it starts -- it's attachment 2 to a document in our brief.  And it starts at page 31 of Exhibit K2.3.

These, I am told, were the presentations that were made.  Is that what you're talking about?

MR. PANKRAC:  This was the June presentation.

MR. THOMPSON:  Okay.  So that's what you're talking about?

MR. PANKRAC:  Yes.

MR. THOMPSON:  Okay.  And if you go to page 36 through to 39, we have M4, M5 and M7 eligibility changes; right?

MR. PANKRAC:  Correct.

MR. THOMPSON:  I don't see any impact numbers there, but at page 39 we have T1 re-design.  That goes from 39 through to 41; right?

MR. PANKRAC:  Yes.

MR. THOMPSON:  And I don't see any customer-specific impacts there, do you?

MR. PANKRAC:  We do call out, in terms of the rates, the changes in the rates for customer charge and for -- I'd have to look at that whole presentation.  Bear with me a moment.

MR. THOMPSON:  Well, would you take it subject to check there's no presentation of customer-specific impacts?

MR. TETREAULT:  Yes, that's fair, Mr. Thompson.

MR. THOMPSON:  Just a couple of others and I'm done.

Assume the Board finds that the change in breakpoint that you proposed for 01 and 10 and/or M1 and M2, as well as the subdivision of T1, is not justified.

Is there anywhere in the evidence that you describe rate-making consequences of such a finding?

MR. PANKRAC:  Each of these proposals was done on a revenue-neutral basis, and so in the absence of these proposals, what you would have would be just the pre-existing rate proposal for 2013 absent the re-design.

MR. THOMPSON:  So if that were the outcome here, is this something the -- could you implement it without, in effect, another phase II proceeding?

MR. TETREAULT:  Should the Board not approve our rate design proposals, we have 2013 rates for every rate class, and we could certainly implement them as soon as it was practical to do so, subsequent to a Board decision.

MR. THOMPSON:  Right, thank you.  Now, Mr. Rosenberg (sic) presented an M12 non-export service that was linked to his view as to how Parkway station costs should be allocated.

You have some evidence on ex-franchise rates in your prefiled evidence.

Do you folks have any comment on Mr. Rosenkranz's proposal?

MR. TETREAULT:  Mr. Thompson, if I understand you correctly, you may have referenced two different recommendations from Mr. Rosenkranz's evidence, if I recall it correctly.  I just want to be clear on which one you're looking for comments on.

MR. THOMPSON:  Well, I'm looking for comments on his rate design proposal, which stems from, as I understand it, the way he would allocate Parkway station costs.

And let me put it to you this way.  If Parkway station costs are allocated as Mr. Rosenkranz suggests, then do you agree that the M12 non-export service makes good sense?

MR. TETREAULT:  Frankly, Mr. Thompson, I'm not sure I understand the utility of Mr. Rosenkranz's proposal for a non-export M12 service.  I haven't wrapped my mind around how or if that would even work, frankly.

I don't believe it will work.

MR. THOMPSON:  Well, there has been a lot of discussion about the obligation of in-franchise customers to get their gas to Parkway.  I would think this non-export service, which would be a little cheaper than M12 is now, might assist them, but --


MR. TETREAULT:  I think the key there is that customers who provide obligated deliveries at Parkway need to do so at the discharge side of the compressor.  So I don't believe a non-discharge service would actually accomplish that.

MR. THOMPSON:  All right.  Well, I'm not going to debate that with you.  The last part of the rate design evidence, and this may not be for you folks, but I think it is in the H1, tab 2 piece.  There are some terms and conditions with respect to M12, M13, M16 contracts.

And my question of this panel is:  Who uses these services, M12, M13, M16, other than parties related to Union?

MR. TETREAULT:  I'm struggling with your question, Mr. Thompson.  You're asking, other than affiliated parties to Union, who uses ex-franchise rates?

MR. THOMPSON:  Other than the Heritages and the Tipperarys and - what is it - Sarnia pool, is there anyone else that uses this stuff?

MR. TETREAULT:  Under M16, Enbridge avails themselves of that transportation service to move gas between their Chatham -- what we refer to as the Chatham D storage pool and Dawn.

MR. THOMPSON:  Is that it?

MR. TETREAULT:  Under M16, that would be it.  Obviously, M13 is a service for local producers who wish to produce gas in Ontario and transport and market their gas at Dawn.

MR. THOMPSON:  Right.  Okay.

MR. TETREAULT:  C1 is a cross-franchise transportation service which would be utilized by many parties, as would the M12 service.

MR. THOMPSON:  Thank you for helping me with that.

And those are my questions.  Thank you very much.

MS. HARE:  Thank you.  Mr. Millar, how much time do you think you'll need?

MR. MILLAR:  I expect less than five minutes.  Most of my stuff has been covered.

MS. HARE:  All right.  And then, Mr. Smith, you'll have re-direct?

MR. SMITH:  Brief, but, yes.

MS. HARE:  Good.  So we'll take our afternoon break now until, let's say, 3:45.

--- Recess taken at 3:22 p.m.

--- On resuming at 3:46 p.m.

MS. HARE:  Please be seated.  Mr. Millar.
Cross-Examination by Mr. Millar:

MR. MILLAR:  Thank you, Madam Chair.  And good afternoon, panel.  Michael Millar, counsel for Board Staff.

Fortunately, almost all of my questions have been taken, so I'll be quite brief.

There has been some discussion with a few people, Mr. Aiken and some others this morning, about the C1 rate.  I imagine this is all in evidence but, first, can you tell me what the C1 is and who uses it?

MR. TETREAULT:  The C1 rate is a regulated transportation service that is used to move gas between various points on Union's system.  In terms of the parties that would use that service, it could be marketers, it could be LDCs, it could be in-franchise customers.

MR. MILLAR:  Do you have a forecast for customer numbers for 2013, or is it done on a revenue basis?

MR. TETREAULT:  It would be done on a revenue basis and the demands associated with that.  No, I don't believe I have that information with me in terms of the number of customers.

MR. MILLAR:  Is that something you actually forecast, or do you just forecast the revenues?

MR. TETREAULT:  I think inherent in the revenue forecast would be the number of customers that would underpin it.

MR. MILLAR:  And if I look at, for example, Mr. Aiken's exhibit from today, K12.1, page 7 of 26, you see there's the C1, lines 12 through 16, I guess.  So is that the revenue you are forecasting for 2013 from that rate class?

MR. TETREAULT:  That's correct.

MR. MILLAR:  So just under $29 million?

MR. TETREAULT:  That's correct.

MR. MILLAR:  Okay, thank you.

Moving on to another area, you did a 2013 cost allocation study for your existing rate classes; is that correct?

MR. TETREAULT:  Yes, it is.

MR. MILLAR:  And is that something that was done in-house by Union, or did you have some assistance from any third parties in developing this study?

MR. TETREAULT:  The 2013 cost study was prepared internally.

MR. MILLAR:  So no outside assistance with that?

MR. TETREAULT:  Correct.

MR. MILLAR:  Now, with respect to the proposed new splits for the M1 and the M2 rate classes, did you do a cost allocation study to support the proposed new breakpoints?

MR. TETREAULT:  No, we did not.  There is not a separate 2014 cost allocation study.  The general service re-design in 2014 is based on 2013 costs, and then we applied a cost allocation methodology that is consistent with what was done in 2007/2008 to split the former M2 rate class into its current M1/M2 structure.

MR. MILLAR:  Sorry, its current M1 and M2?

MR. TETREAULT:  Correct.  At the 50,000 breakpoint, in other words.

MR. MILLAR:  At the 50,000 breakpoint.

MR. TETREAULT:  As currently structured.

MR. MILLAR:  Maybe you just answered this question, but is there a reason you didn't run the numbers separately for the proposed new breakpoint?

MR. TETREAULT:  We didn't see any advantage to doing so.  We have a methodology that's been previously used, previously approved by the Board for the same type of exercise, and, in our judgment, we were able to apply that methodology again based on a 2013 cost study.

MR. MILLAR:  Thank you for that.  Following up on something Mr. Thompson asked you, although from a slightly different angle, imagine, if you will, that the Board rejects your proposal for the new breakpoint for the M1, M2 and R1 and R2.  There's been discussion throughout the past couple of days about, if your proposal is accepted, what harm might befall at least certain ratepayers who are close to the breakpoint, and by that I mean what some are calling the rate shock that some customers would experience.  You recall those discussions?

MR. TETREAULT:  I do.

MR. MILLAR:  Let me turn the question around and pose it to you the other way.  What harm would befall ratepayers if you do not make this change to the proposed new breakpoint?

MR. TETREAULT:  Ultimately, the harm will be that we will have rate classes, particularly general service rate classes, that are not as homogenous as they should be, and in the case of our large-volume general service classes, we will not have sufficient class size for proper class rate-making.

The same would also be true for our proposal to split T1/T2 where we are trying to dramatically improve the homogeneity of that class, and absent that proposal being accepted, we would continue with the lack of homogeneity that currently exists in that class.

MR. MILLAR:  So, essentially -- and this should come as no surprise to me, I suppose.  Essentially, what you've been saying in your pre-filed and in response to some of the questions, the new proposal will give you better homogeneity and larger or, in other words, better class size?

MR. TETREAULT:  Yes.  We're saying size to attempt to be prudent rate designers, we need to make these changes to make sure that all of our rate classes are sustainable on a long-term basis.

MR. MILLAR:  Some questions about FT RAM.  I think this is following up again on some questions from Mr. Thompson.

If the FT RAM program does continue into 2013, how is Union proposing to allocate those revenues?

In other words, will they be used to offset charges or will they become part of the overall bundle of S&T margins, or something else?

MR. TETREAULT:  If there were additional S&T margin associated with FT RAM, I think we have a few options.  I would suggest the default option is to treat it consistent with how we've streamed other S&T transactional margin.  And, effectively, what that is is approximately 50 to 55 percent, depending on the filing, to Union north, with the remainder to Union south.

The other methodology would be the rate mitigation methodology we put forward in J.H-1-1-2, which discussed streaming all of the FT RAM revenue to north rates as a rate mitigation tool.

MR. MILLAR:  The default, in other words what you're doing now, is what -- I only call it "the slush fund", because that's the term that's been used, but that is the approach; that is, the default?  Is that right?

MR. TETREAULT:  I would consider that to be the default, recognizing we've also put forward an alternative for the Board to consider.

MR. MILLAR:  Now, in the normal course under, if I could call it, pure cost allocation rate design principles, revenues are typically assigned to the classes that generate them; is that fair?

MR. TETREAULT:  Revenues are allocated -- excuse me, revenues are forecasted on a rate class basis.  The utility cost of service is allocated to rate class based on cost allocation principles.

MR. MILLAR:  But why is it different for S&T margins?  And again, this is -- you went over some of this with Mr. Thompson, and maybe you've already provided the answer for that.

But I'm not sure I quite understand why you seem to have a different way of conducting business when it comes to these S&T margins.

MR. TETREAULT:  I wouldn't describe it as a different way of conducting business.  But certain S&T activities will generate revenue above the allocated costs as allocated in the cost allocation study, and that is the roughly $24 million of S&T transactional margin that we've streamed back into rates.

So, for example, transactional exchanges, short-term storage, those type of transactions could generate and do generate revenue above cost, and, therefore, we stream that margin back.

MR. MILLAR:  But you stream it somewhere else; right?

MR. TETREAULT:  I'm sorry?

MR. MILLAR:  I think I understand.

MR. TETREAULT:  We stream all of S&T margin into in-franchise rates, the full 23.9 million.

MR. MILLAR:  Thank you, panel.  Those are my questions.

MS. HARE:  Thank you.  Ms. Taylor has a question.
Questions by the Board:


MS. TAYLOR:  Mr. Tetreault, I think this is for you.  Mr. Thompson asked you on, I think it was, H3, tab 10, schedule 1.  And he was talking about the S -- the surge in transmission transaction.

He was trying to confirm whether the line that talks about -- so the short-term transportation and exchanges under C1, line 14, and he asked you whether that included the basic transactions and whether it included any of the FT RAM.

You said it did not include any FT RAM, and I want to make sure I heard the answer correctly.  Is it because that's just the basic line, or because the FT RAM is forecasted to be zero?

MR. TETREAULT:  It is the latter.  It's due to FT RAM being forecast at zero.

MS. TAYLOR:  So there were a number of exchanges by type, so basic was one type, and then there were a number.  So that line is inclusive of all of those transactions; is that correct?

MR. TETREAULT:  That's correct.

MS. TAYLOR:  And if there were FT RAM revenues in 2013, either because the program is terminated at a date different than January 1st of 2013, or it was to be continued by the NEB indefinitely through the entire fiscal year, they would then be captured in that line, as well?

MR. TETREAULT:  Yes, I believe that's the case.

MS. TAYLOR:  Thank you.

MS. HARE:  Mr. Smith, you have re-direct?
Re-Examination by Mr. Smith:

MR. SMITH:  Just picking up on Member Taylor's question about C1 short-term transportation and exchanges, and you were asked whether or not they would show up in line 14, Mr. Tetreault.  Do you recall that discussion?

MR. TETREAULT:  Yes, I do.

MR. SMITH:  And I guess the question is:  Union hasn't forecast anything in relation to those revenues now, and -- well, let me just ask it this way.

What is the impact of not having a forecast for those   revenues?

MR. TETREAULT:  The effect of the FT RAM forecast being zero is lower S&T margin than it would otherwise be.

MR. SMITH:  And when you refer to "the alternative," what is it you're referring to in the alternative proposal?

MR. TETREAULT:  The alternative is laid out in the response to J.H-1-1-2, and, in there, as a possible rate mitigation measure, we had discussed that if there were FT RAM revenue, the margin could potentially be streamed directly to north ratepayers to manage the 2013 proposed rate impacts, with the caveat that Union would require deferral account protection should TCPL be successful in eliminating the program.

MR. SMITH:  You were asked -- or you used the expression "homogeneity", and this came out of a question urban asked by Mr. Millar, but, just broadly, what happens when you have a class that lacks homogeneity?  What does that reflect inside the class?

MR. TETREAULT:  Generally speaking, what that will result in is, frankly, unusual rate results or rate impacts for customers.  You want to have -- you want to have sizeable homogeneous rate classes so that you have, on an ongoing basis, sustainable rates that represent the costs associated with that rate class.

Where you lack homogeneity, you will tend to have intra-class subsidies amongst the customers that are in the class, and that is something that you want to avoid when designing rate classes and rates.

MR. SMITH:  And you mentioned size a number of times, but what happens when rate classes are not of a sufficient size, in your view?

MR. TETREAULT:  When rate classes are not of a sufficient size, as customers for a variety of reasons join or leave that rate class, they obviously bring their costs, their revenues, their volumes, with them.  And if you lack that class size, the impact of a customer entering or leaving the rate class can be dramatic on the rest of the customers in the rate class.  And you want to avoid those type of circumstances, where possible.

MR. SMITH:  Earlier in your examination, I believe it was by Mr. Wolnik, you were asked about whether or not you had taken the north proposals to senior management or if senior management were aware of them.

And I guess I'm going to ask you:  What, if any, was the reaction of senior management to the north increases?

MR. TETREAULT:  As we were, senior management was concerned.  Specifically they asked us to review the cost allocation study and ensure that we were comfortable with the results, and that all of the data and all of the calculations in the cost study were working as they needed to, were working properly.

Further, we had to go back to source groups.  And what I mean by that is we needed to make sure we had the right costs.  So we needed to speak to finance to ensure that we were receiving the proper data from them and using that data properly.

And, likewise, the information that supports the allocators that allocates costs to rate classes, we had to review with source groups that information to, again, make sure we had accurate information and that we were using that information correctly.

MR. SMITH:  And was that work done?

MR. TETREAULT:  Yes, it was.

MR. SMITH:  Thank you.  Those are my questions.
Procedural Matters:


MS. HARE:  Thank you.  Before we move, then, into looking at this undertaking response and the source document, Mr. Quinn, you were going to draft some questions.

MR. QUINN:  Yes.

MS. HARE:  How do you intend to propose -- do you want to just read them into the record, and then Union can answer them in due course?

MR. QUINN:  I actually provided written copies.  That's what I thought the intent was.  And I've provided Mr. Millar with copies, and I have some copies for our friends here.

Ideally, if I could have those distributed and maybe marked as an exhibit, then they'd be on the record.

MS. HARE:  That would be fine.

MR. QUINN:  And if I may ask if Union could check them over and see if they have any questions or concerns, then we could get it accepted as an undertaking, and that would be very helpful.

MS. HARE:  That's fine.  And Mr. --

MR. SMITH:  Well, Madam Chair --


MS. HARE:  Yes.

MR. SMITH:  I haven't seen the questions yet.  It might take me a while to advise of Union's position.

MS. HARE:  And I think you were clear on that point on Friday, too, that --


MR. SMITH:  No, no, I wasn't sure whether you wanted me to advise this instant or just --


MS. HARE:  No.

MR. SMITH:  Okay.

MS. HARE:  No.

MR. SMITH:  That's fine.

MS. HARE:  And I was next going to ask Mr. Thompson if he similarly had any sort of remaining matters.

MR. THOMPSON:  Yes, I did.  I sent out an e-mail last night, Madam Chair, with my questions.  There are four of them.  And like Mr. Quinn, I guess I'd like to have this marked and to have the company indicate whether they're going to respond or not respond, and...

MS. HARE:  Now, yours having been sent last night, are you in a position to speak to Mr. Thompson's?

MR. SMITH:  I can go through the questions, yes.  I received them last night at 9:30.

MS. HARE:  So let's not do that today.  Take your time to look at them, advise us.  It means they won't be marked as an exhibit, but I'm sure there's a way that they can be entered into the record if in fact you will be able to answer them.  Does that make sense?

MR. SMITH:  Yes, if they're filed by Union.

MS. HARE:  Does that make sense?

MR. MILLAR:  Madam Chair, I should advise I don't know if any other parties are in this position, as well.  Staff had one or two clarification questions, I think it was on J7.12, which we haven't circulated yet.  I don't know if others may be in that position, as well.

MS. HARE:  And would that also be for a different panel other than this one?

MR. MILLAR:  Yes.  It's not for this panel.

MS. HARE:  Then you would be in the same position
as --


MR. MILLAR:  That's right.  Just I wanted to alert the parties to that, because we hadn't filed anything.

MR. SMITH:  Madam Chair, if it's of assistance, the only parties to contact us over the weekend following Friday were Mr. Thompson and Mr. Quinn.

I have some concern -- I mean, I don't think it would be appropriate for parties to send in questions several days from now with new ideas.  I do have a general concern about that.  We're obviously going to be focussed on preparing argument.

MS. HARE:  Yes.

[Board Panel confers]

The Board will give all other parties until 10 o'clock tomorrow to send in any additional questions of a clarification-type nature.  So as I said on Friday, this is not an opportunity for an undertaking on an undertaking, but some of the undertaking responses may not have been actually responsive to the question that was being posed.

So we will allow those types of questions, subject to any comments Union has after seeing what comes in tomorrow.

MR. SMITH:  Thank you.

MS. HARE:  There was an interrogatory response,
J.O-4-15-1.  Mr. Thompson, you then asked an undertaking to please provide the words that in some cases are blacked out.  There are also numbers that have been redacted from the origin -- from the interrogatory response.
SUBMISSIONS ON CONFIDENTIALITY


So, Mr. Thompson, could you please proceed with your submissions as to whether or not these documents should remain or should be treated as confidential documents, which parts of them,
and then we'll hear from any other parties that --

Submissions by Mr. Thompson:

MR. THOMPSON:  Well, yes, Madam Chair.  I did put my submissions on the record previously, but it's with respect to J.O-4-15-1, and what we asked for was that an unredacted copy be produced in confidence, and then I was happy to defer, if you will, the debate as to whether they should continue to be held in confidence until final argument, if you wish.

So that's really what I'm speaking to, is to having an unredacted copy of this document made available to the parties, at least in confidence, and hopefully before we leave today, because the arrangement was that these copies would be available if you ruled in favour of my request.

And so what I'd like to do quickly is just demonstrate with the words why I submit the contents of J -- unredacted comments of J.O-4-15-1 are relevant to this case.

MS. HARE:  May I interrupt you for a second?  Do you think you can do your argument all on the public record, or should we go in camera?

MR. THOMPSON:  No, I think we can do it on the record.  I'll try and be -- I mean, I don't know what the numbers are so -- I know what the words are.

MS. HARE:  And I think Union Gas also had sensitivity to some of the headings that were blacked out that we now do see.

MR. THOMPSON:  Right, but my understanding is they filed the words on the public record.

MR. SMITH:  Yes, we've done so.  I'm fine with that.

MR. THOMPSON:  So I don't think I'm offside.  I don't want to get fined.

MR. SMITH:  I see the truck backing up now.

MR. THOMPSON:  I'll have to get Mr. Shepherd, then, sitting on his wallet to pay for it.

In any event, just quickly, in terms of the words, you'll recall that in the examination of Ms. Elliott it's conceded that there are documents in the public filing dealing with the Union Gas Limited, the corporate entity, and that Ms. Elliott said, as I recall it, that the information that's in the redacted documents you have before you has been provided to rating analysts and acted upon.

And so it's in that context that I simply draw your attention to -- if you would open up page 1, for example, of attachment 1 in J.O-4-15-1 and compare it to the words that have been filed in J8.8 attachment 1, page 1 of 4, you'll see the words that have been blacked out relate to Dawn-Gateway, Dawn-Gateway revenue consolidation, market hub, St. Clair Pipelines, and then an incentive measure at the bottom, minimum target, maximum.

If you go over to page -- I think the only other page on which words have been have been eliminated is on page 6, the heading "Capital Expenditures."  And so the words that have been added here are:  Heritage pool, Jacob storage development, storage enhancements, Phase I, PMOP, Dow storage, Dow-Moore storage enhancements, storage enhancements, Phase II, Waubuno-Dawn, and other storage projects from a capital perspective.

And this is exactly the information that Mr. Quinn is trying to get so that we can verify that the allocations that are being done as between utility and non-utility are tracking the capital expenditures as between utility and non-utility.

So that strikes me as being highly relevant to the discussion in this case.

And then if you would go over the pages 3 and 4 of J8.8, you have essentially the same type of words that have been blacked out on the previous pages in attachment 1, which were just an earlier presentation to the board of directors.

So I submit that this document, the unredacted version of it, is very relevant to matters in issue in this case.  One of the issues is the interest coverage.  Interest coverage, in my respectful submission, relates to the Union Gas Limited.  That's the entity that is raising the money, and I believe parties and the Board should have information related to that issue that is before the company's board of directors.

As I've indicated, the information has relevance to this regulated/unregulated storage allocation factors issue and, overall, a document that is quite relevant.

And in closing, I'd just refer to Mr. Smith's submissions when he was arguing that presentations to management of TransCanada should be produced.  He said at page 40 of volume 10, I believe it was:

"I know from my own experience and in dealing with these matters, that of course there is a different level of precision sometimes attached to presentations that are made to senior management."

So I rely on that very succinct expression by learned counsel of the concept that should apply to this particular document and ask that an unredacted version be produced in confidence.

As to whether it should remain held in confidence, as I say, I'm prepared to deal with that later.  But as a preview, I'd simply say I can see no reason why it should be held in confidence when all the other stuff is already on the record about Union Gas Limited.

Those are my submissions.

MS. HARE:  Thank you.  Mr. Quinn, do you have any submissions to make?
Submissions by Mr. Quinn:

MR. QUINN:  Yes, I do.  Thank you, Madam Chair.  And I too will be brief.  Mr. Thompson covered one of my points.  But, in summary, we have been seeking an understanding of Union's utility and non-utility policies.

We are seeking the documentation of the policies at a level of disclosure to ensure that there is an equitable allocation of costs, being both capital and O&M, between the utility and non-utility.

And the information that's being sought would assist us and, we believe, the Board to ensure that there are equitable allocations between utility and non-utility.

And I might add that while some in this proceeding have used the terms "utility" and "non-utility" somewhat interchangeably, it is our view -- interchangeably with regulated and unregulated, it is our view that the correct term is "utility and non-utility", as in our view the NGEIR decision provided Union with forbearance on the storage pricing and, to some degree, contracting, but there was still a STAR put in place to ensure that even the contracting had a light-handed complaint-based regulation.

So, in our view, we are talking about utility and non-utility.  The integrated storage system provided by Union Gas is still regulated by this Board, and, therefore, if there are investments that are made and we are impacted as ratepayers by the allocations of capital and O&M as a result of those investments, we should have an ability to see those numbers to understand that we have been treated equitably in the accounting processes.  Thank you.

MS. HARE:  Thank you.  Mr. Smith, could I hear submissions, please?
Submissions by Mr. Smith:

MR. SMITH:  Damned by faint praise by Mr. Thompson again, but let me respond to my friends with the following.

Mr. Thompson began his discussion with Ms. Elliott by indicating on day 8, at page 45, at line 8:
"Well, so first of all, can you tell me what they cover, the consolidated statements of income for -- is it Union Gas Limited?
"MS. ELLIOTT:  It would be the Union Gas -- those would be the Union Gas consolidated financial statements comparable to our external financial statements."

There's no question that the information that is contained on these internal statements is already reflect on a consolidated basis in Union's financial statements, which have been provided.

So as to my friends' comments as to the accuracy, there could not be anything more accurate than Union's audited financial statements, which my friends have.

They also have all of the information on an aggregated level already.  What is not shown and what has been blacked out in this undertaking, generally speaking, are the storage-specific figures.  And there's a good reason for that.  Storage is, as my friends recognize, an unregulated activity as to price, and, for that reason, it can have no impact on 2013 rates.

So, in my submission, there is no piece of information that can be relative to 2013 rates that my friends either don't have or that's on this chart that they need.  And I say that, for example, if you were to look on the very first page under the heading "S&T", that refers to storage and transmission, or storage and transportation, as it's sometimes referred to.

That line is blacked out.  But if you go a couple of pages in, you will see the regulated transportation numbers, which are the numbers that my friends would be entitled to and have been provided with.

So, in my submission, my friends already have all of the information they need.  Saying it is in the aggregate somewhere else is not an argument for production.  In my submission, it's argument for why there need not be further production.

The earnings of Huron Tipperary Limited, an affiliate which is solely engaged in the business of storage, in my submission, has nothing to do with anything in this proceeding.  To the extent my friends say they need aggregate information, as Mr. Thompson said, to make arguments about interest coverage ratio, that information has already been provided.

With respect to storage expansion projects, we're not in this proceeding to determine whether the cost allocation methodology used to allocate costs between Union's unregulated and regulated business is or is not appropriate.  Indeed, that was the very subject that was the matter in the 0038 case.

What is in issue is whether or not Union has been following that methodology, and my friends have had ample opportunity to examine that topic; and, indeed, I'm not aware of this document being referred to in that respect by anybody.  So I'm a little bit surprised to hear it come up at this stage.

So, in my submission, there is no reason to produce the information.  It's no different than, in OPG's case, OPG not providing information in relation to its unregulated hydroelectric business.  As the Board will be aware, they have a number of unregulated hydroelectric facilities or their unregulated fossil fuels business which the Board has not ordered production of.

In my submission, there's no reason to treat this information any differently, and, indeed, you know, strictly speaking, I think my friends have more than they're entitled to already, with all of the aggregated information and the very full discovery process that's taken place throughout this hearing, giving them detailed information.

Obviously, if the Board orders production, we would strongly urge that it be treated as confidential, but we can cross that bridge if we need to get to it.  Thank you.

MS. HARE:  Thank you.  Mr. Thompson, do you have any reply comments?

MR. THOMPSON:  I think I'd only be repeating myself, so, thank you, no.

MS. HARE:  Thank you.  I should have excused the panel earlier.  Thank you very much.  You are now excused.

So we are now concluded the hearing.  There are some follow-ups, as we talked about, that we will deal with tomorrow.  Our intention is to have a written decision on this matter shortly, hopefully tomorrow or Wednesday.

MR. SMITH:  Thank you.

MS. HARE:  All right?

MR. SMITH:  Thank you very much.

MS. HARE:  Thank you.  So we are now adjourned until August 13th, when we will hear oral argument-in-chief.

MR. SMITH:  Yes.  Thank you.

--- Whereupon the hearing adjourned at 4:21 p.m.
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